CABINET
HANDLES,PULLS
& KNOBS

HANDLES
RECESSED PULLS
TRUNK HANDLES

PULLS
FOLDING RING PULLS
EDGE PULLS
HATCH PULLS
KNOBS
PUSH KNOBS



30 SUGATSUNE

HANDLES (Back Screw Mount)

oMPONER

ri2 @ %o4| 3-25/32"~6-19/64" 48
1

g Picture Item No. Center to Center Page Picture Item No. Center to Center Page
Z
STAINLESS
O ZL-2001 316 1-1/4"~10-1/16" 34 ewr @ 3-1/2"~6" 43
— 2 |steR STEEL
-
U) STAINLESS
- 7L-2002 3-25/32'-12-19/32" 35 XL-JSR te|  1i7ea-5132 43
o
C
e -230 STAINLESS STANLESS N .
- T T ) 35 ECH 2-61/64"~11-13/16" 44
STEEL STEEL
(0p)
STAINLE STANLESS " "
i 16-S SERIES 03| sosmr-23sle 36 xecu @ o 303 2-27/32"~11-1/2 44
TEEL [comPoneRT| ===
Z
STAINLESS " "
8 27-S SERIES S04|  3-25/32'-235/16" 36 XL-CUR 2-3/4"~5-33/64 44
STEEL
wm
STAINLESS "_7_ "
oIl T [, soseries [ 5-3/64"~7-9/16 45
STEEL
KPH 304 6-19/64"~11-11/32" 45
26-S SERIES @ 04| 3-25/32'-54-13/16" 37 g
@)
STAINLESS - i 304 - ~cU-~
> DSI-110 L (50h] 3-25/327-20532" 45
w 28-S SERIES 04| 3-25/32-54-51/64" 37 rozs [ g
e e TEEL
P
m e swe @ 3"-3-25/32" 46
— 70-SSERIES | |%04|  3-25/32"-12-19/32" 37
= STEEL
T
> STAINLESS SWF @ , 53"':‘5&5 4""12" 46
" " — STEEL
> 30-SSERES  |[d 304 3-25/32"~7-9/16 38
- H-75-BL-100 3-15/16 46
cl'jl'l) DSI-120 [ 3-25/32'~20-5/32" 38 i,
= TEEL
naze @ [ (55 iswes-name 47
-U STANLESS ComponenT] L] STEEL
cC 82-SSEREES |k |30 6-19/64"~12-19/32" 39 =
— = STEEL
r— nazc @ 304 2-23/64"~11-11/32" 47
[ComPONENT] S’
2 we @ 5-20/32"~11-13/16" 39
m S
H-42-F14 @ 3-5/32" 47
x STAINLESS
= DL 2-33/64"~5-43/64" 40
[componenT]
8 nsc @ 2-23/64"~4-23/32" 48
STAINLESS STEEL
(0)] DS 303 63/64"~3-11/32" 40
[componenT]

©

’ STAINLESS STEEL
EC 4 3-5/8"~6-25/32" 40
RoHis STEEL
HK o E Z04|  3-5/32"~4-23/32" 50
FB 304 3-7/32"~4-23/32" 41 = ==
KB (is7] 303 63/64"~3-11/32" 41
Boid STEEL
‘s s iy a | // HANDLES (Front Screw Mount)
STEEL
Picture Item No. Center to Center Page
kes @ 316 3-1/2"~6" 42
STEEL
FT-R 304 4-1/4"~5-43/64" 49
STAINLESS STEEL
EK-S @ 316 3-1/2"~6" 42
STEEL
STAINLESS
s FT-T 316 3-25/32"~6-59/64" 49
XL-JS ] (346 6-19/64"~13-55/64" 42 Stee
il STEEL
ker @ 31 3.1/2"~6" 23 ac O 2-33/64"~6-19/64" 50
TEEL oo
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 31

RECESSED PULLS

Picture Item No. Center to Center Page Picture Item No.

3LC %‘E 4-9/64"~4-59/64" 51 UTA-105 60

4c ® 316|  2-33/64"-6-19/64" 51 ut 1)

STEEL

YK-70
MH-P 3-15/16"~5-29/32" 52

YK-W100
Us (is7) 2-1/8"-5-33/64" 52

HH-P135
EC-H (is7) 4-17/32'~5-45/64" 52

SAONM ® ST11Nd ‘SITANVH

HH-KS
e B
FT-110S ® 4-21/64" 53

@
-65, 80, 100 @ 2-1/4"~3-15/32' 53

PONERT]
[ComPonER
FT-120, 150 @ 4-11/64"~5-3/16" 53

= °ogE -

EC-Y 4-23/32'~6-11/16" 54

SP 63
MJH 3-21/32"~5-29/32" 54 @

HH-FB, HH-FC 63

‘STAINLESS
FT-200, 280 @ 316|  657/64'-9-31/32" 55 HH-KL160 (st ) 64

SEONM ® ST71Nd 'S3TANVH L3INIGVO

KMH 3-15/16"~5-29/32" 55 HH-KP150 @ 64
HH-KPR150-SH 64
HANDLES (Back Screw Mount)
. HH-AS2 65
Picture Item No. Center to Center Page ooy [
HH-AS3 65
TMH 3-25/32"~7-9/16" 56
ES-611 @ 65
DLB 3-25/32" 56 -
UTZ-130 (4 66
LX-110/SN 3-25/32" 56
SD-160 66
g s -3/4"~4- "
KK-H 51 2-3/4"~4-23/32 57 AT-100 @ 67
XLA-HA 3-25/32"~12-19/32" 58 AT-70 @ 67
ATS-100 @ 67
SGH-200 6-7/8" 58
XLA-HHA @ 68
SAZ 4-1/64" 59
HH-PS99 68
936 SERIES 2-11/64"~3-61/64" 59
UP-600 68
KAKU-A 3-1/16"-4-7/16" 59 HH-UD 69
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



32

— [ recessorus g

T
>
4
o
—
m
(2
T
c
—
—
n
Ro
X
p
©)
vy
%)

SAONM ® ST71Nd ‘S3TANVH LANIGVO

SUGATSUNE

Picture Item No. Page
HH-M [ (555 7o
Smes= STEEL
HH-P [ @ 70
ZL-2501 (4 71
RP [ 71
25 STEEL
HN 0 72
= STEEL
OP-150 (] (505 72
e STEEL
3511, 3512 SERIES 73
3922 SERIES 73
| // TRUNK HANDLES
Picture Item No. Page
HCT-150 E 74
MUD-140 74
TMU-115 75
v PT-148 75
|/ PuULLS
Picture Item No. Page
SN sl e
STEEL
STAINLESS
SND Q 304| 76
STEEL
STAINLESS
DSI-350 304| 76
STEEL
DSI-360 Z04| 761
STEEL
DSI-370 304| 76.1
STEEL
DSI-380 762
STEEL
AG 77

Picture Item No. Page
eN 77
STAINLESS
STEEL
STAINLESS
RD-55/SM, 90/SM 3%e| 78
RD 78
\@\‘
AOT35 g 51 79
’ FOLDING RING PULLS
Picture Item No. Page
3261, 3262 SERIES 79
STAINLESS
26700 80
26900 8
26901 0 .
980643 o1
980641, 980642 =) gy
STEEL
980640 o1
iy STEEL
ST-90, 115 @ -
STEEL
ST-80, 100 @ AR
STEEL
HR 83
ot STEEL
STAINLESS
HR-R 83
ot STEEL
FH-100AK, FH-100BK 84
FH-100AM, FH-100BM a4
’ KNOBS
Picture Item No. Page
ZL-1906 316| 85
STEEL
ZL-1909 316| 85

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 3

Picture Item No. Page Picture Item No. Page %

P

ZL-1901 316| 86 TS 92 E

STEEL

0

STANLESS @ &

ZL-1902 316 86 RS-38 93 o)
STEEL

C

=

B s RSS ® 93 r—

ZL-1903 316 86 0

Ro

) DJ-22 93 A

ZL-1904 87 =z

@)

oy}

ZL-1905 0)]

87 GLA 94
STEEL

o)

STAINLESS KK_T W 94
ZL-2302 87 4

@)
KK-B 94
ZL-1907 88 KA >
o
Z
MRB 95
ZL-2503 88 m
STEEL _|
>
sy 95
DSI-126D 88 >
O
MKZ 95 m
GT-40CR 89 0
™T 96 8
DG-BT 89 =
—
DW-50N 96 2
DG-BT2 89 Ro
A
ASERIES 96 Z
EY-127 ) (@)
o
7L-1908 316 o7 n
STEEL
EY-207 90
PK-03 97
EY-301 90
ESOR COLLECTION
EY-320 91
HANDLES, KNOBS AND PULLS
=R 17 STYLES, 4 FINISHES 97.1-97.9
DSI-209 91
EY-326 91
EY-327 91
EY-338 92
EY-339 92
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



34 SUGATSUNE

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

S3ATANYH 1 1eamz

sie|] ZL-2001

STEEL

Zweil Handle

* Models ZL-2001-32, ZL-2001-64, ZL-2001-96,
ZL-2001-128 are RoHs compliant.

« Includes 1-3/16" long stainless steel screws
(M4 x 30).

10
. (13/32")
1
(e 74
* —_
©
83

2xM4, Depth12

C
Item No. Material Finish/Color L © Weight (g) Box (pcs)

Z1.-2001-32 38 32 ( 1-1/4" ) 34 20
Z1-2001-64 70 64 ( 2-1/2" ) 46 12
ZL-2001-96 102 96 (3-25/32") 59 12
Z1.-2001-128 316 Stainless Steel Zwei L 134 128 ( 5-1/32") 72 10
ZL-2001-160 166 160 ( 6-5/16") 86 10
ZL-2001-192 198 192 (7-9/16") 100

ZL-2001-256 262 256 (10-1/16") 125 6

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 35

Zweil Handle 3] ZL-2002

STEEL i
>
* Includes 1-3/16" long stainless steel screws (M5 x 30). %
—
[Tl
1%
U
C
—
(I
(0)]
L <16 Qo
(5/8")
} 10 é
\
S A (378"
; ‘ " O
23 o
‘ | i
[ ] |
|
N
‘ c 2-M5 x 0.8 =
Depth 12 ®.
—
Item No. Material Finish/Color L C Weight (g) Box (pcs) :(I>
ZL-2002-96 106 96 (1 3-25/32") 165 12 =
ZL-2002-128 138 128 ( 5-1/32" ) 194 12 w)
ZL-2002-160 ) : 170 160 ( 6-10/64") 233 12 I
ZL-2002-192 316 Stainless Steel zwei L 202 192 ( 7-9/16" ) 265 6 m
ZL-2002-256 266 256 (10-5/64") 332 6 n
ZL-2002-320 330 320 (12-19/32") 395 6
- STAINLESS
316 -
Zweil. Handle Base 36| ZL-2301
—-= Satin Finish —-- Satin Finish

v 4
“H 5
|
20 (14) | (1/8")
(25/32", 9/16")
.:,#,:,::[1(1/32“) Sorew Mdxi6 Screw M5x16
011.2 4=—=
—=-010-=(25/64") (716"

—-— Satin Finish ?’\1‘ —-— Satin Finish © i
W[ <8 N ag
=" {
e 3
o0 T s re

07 11 - M5/ 18 |

Plate/Screw Set for Handle (M4) l
Item No. Part Name Material Finish/Color Plate/Screw Set for Handle (416)
Screw (M4 x 16) Stainless Steel Zwei L Item No. Part Name Material Finish/Color
ZL-2301-2016 | Base Plate (g16) | 316 Stainless Steel Zweil L Screw (M4 x 16) Stainless Steel Zwei L
Gasket (914) Elastmoer Plain ZL-2302-1916 |Base Plate (g16) | 316 Stainless Steel Zwei L
Gasket (g14) Elastomer Plain

*2 each of screws, base plates, and 4 gaskets included.
*2 pieces each included

Plate/Screw Set for Handle (M4) Plate/Screw Set for Handle (225)
Item No. Part Name Material Finish/Color Item No. Part Name Material Finish/Color
Screw (M5 x 16) Stainless Steel Zwei L Screw (M4 x 16) Stainless Steel Zwei L
Base Plate (925) | 316 Stainless Steel Zwei L Base Plate (225) | 316 Stainless Steel Zwei L
ZL-2301-2025 - ZL-2302-1925 -
Gasket (914) Elastomer Plain Gasket (g14) Elastomer Plain
Gasket (220) Elastomer Plain Gasket (220) Elastomer Plain
*2 pieces each included.
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



36 SUGATSUNE

HANDLE (1/2" BAR PULL) H- | 16 SERIES

I
>
Z L
o12

Ig (172"
m : fan |
% :
go) $- 1
C 1
I': | ¢ &)
v Item No. L [ H Weight (g) | Box (pcs) | Carton (pcs) 20
Qo 1646 118 96 ( 3-25/32") 62

1647 150 128 ( 5-1/32") 70
A 1648 182 160 ( 6-5/16" ) 85
% 1650 214 192 ( 7-9/16" ) 94

1651 314 292 (11-7/16") . 121
g 1652 342 320 (12-9/16") 34 (1-11/327) 128 25 250

1653 364 342 (13-7/16") 134

1654 414 392 (15-7/16") 148

1655 514 492 ( 19-3/8") 175 Material Finish

1656 614 592 (23-5/16") 202 304 Stainless Steel Satin
>

M4x25
Z  HANDLE (116" BAR PULL) E- | 27 SERIES
=
rn (1?;186“)
wn
]
H
! s
[¢]
L

Item No. L © H Weight (g) Box (pcs) | Carton (pcs)

27096 128 96 ( 3-25/32") 140

27128 160 128 ( 5-1/32" ) 152

27160 192 160 ( 6-5/16" ) 170

27192 224 192 ( 7-9/16" ) 183

27292 324 292 ( 11-7/16" ) 225

44 (1-47/64" 1 1

27320 352 320 ( 12-9/16" ) ( 64) 237 ° S0

27342 374 342 ( 13-15/32") 245

27392 424 392 ( 15-7/16" ) 267

27492 524 492 ( 19-3/8" ) 309 Material Finish

27592 624 592 ( 23-5/16") 351 304 Stainless Steel Satin

HANDLE (MITERED CORNER) E DIH

014
—©ere" [
1N
J L | | ]
| c |
L
Item No. L © H Weight (g) Box (pcs) |Carton (pcs)
DIH-096 110 96 ( 3-25/32") 57
DIH-128 142 128 ( 5-1/32" ) 66
DIH-192 206 192 ( 7-9/16" ) . 83
DIH-342 356 342 (13-15/32") 35 (1-3/8") 123 25 250
DIH-492 506 492 ( 19-3/8" ) 163 Material Finish
DIH-592 606 592 ( 23-5/16") 189 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 37

H.-] 26 SERIES

HANDLE (9/16" BAR PULL) ©

[COMPONENT T
>
* Models 2658 and 2659 have a center post. Z
O
-
L ~o14 L
(9/16‘) _U')
N o
C
155 =
- M4 x 0.7
Depth 10 U)
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs) Ro
2646 160 96 ( 3-25/32") 107 A
2647 192 128 ( 5-1/32" ) 113 %
2650 256 192 ( 7-9/16" ) 136 w
2653 406 342 (13-15/32") 187 n
35 (1-3/8" 25 250
2655 556 492 ( 19-3/8" ) ( ) 216
2656 656 592 ( 23-5/16" ) 324
2658 1220 1156 ( 45-1/2" ) 547 Material Finish
2659 1456 1392 (54-13/16") 570 304 Stainless Steel Satin

HANDLE (11/16" BAR PULL)

H] 28 SERIES

* Models 281192 and 281392 have a center post.

S3TANVH

018

e
| (11/16")
H A i
c
\ L
Item No. L © H Weight (g) Box (pcs) Carton (pcs)
28096 160 96 ( 3-25/32") 155
28128 192 128 ( 5-1/32" ) 166
28192 256 192 ( 7-9/16" ) 190
28342 406 342 (13-15/32") . 350
28492 556 492 ( 19-3/8" ) 47 (1-27132") 322 15 150
28592 656 592 ( 23-5/16" ) 381
281192 1256 1192 (46-59/64") 627 Material Finish
281392 1456 1392 (54-51/64") 714 304 Stainless Steel Satin

HANDLE (OVAL BAR PULL) E.] 70 SERIES

14
L (9/16")

le— 21—~ ‘
YA
(1-1/16")

Item No. L © Weight (g) Box (pcs) Carton (pcs)

7013 160 96 ( 3-25/32") 121

7014 192 128 ( 5-1/32" ) 139

7015 224 160 ( 6-19/64") 517

7016 256 192 ( 7-9/16" ) 174 25 250

7017 288 224 ( 8-13/16") 192

7018 320 256 ( 10-5/64") 210 Material Finish
7020 384 320 (12-19/32") 246 304 Stainless Steel Satin

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



38 SUGATSUNE

HANDLE H.-| 30SERIES

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

I 8
> <
Z
S|
M c M4 x 25
0p)
Item No. L C Weight (g) Box (pcs) Carton (pcs)

3096 118 96 (3-25/32") 72

3097 151 128 ( 5-1/32") 90 25 250 Material Finish

3099 224 192 ( 7-9/16" ) 128 304 Stainless Steel Satin

HANDLE -] DsI-120

©X
= V |
ol
HE I
L o] 30
(1-3/16”)
Item No. L © Weight (g) Box (pcs) Carton (pcs)
DSI-120-96 102 96 ( 3-25/32") 186 25 250
DSI-120-128 134 128 ( 5-1/16" ) 248
DSI-120-160 166 160 ( 6-5/16" ) 275
DSI-120-192 196 192 ( 7-9/16" ) 375 9 1T
DSI-120-320 326 320 (12-19/32") 620 Material Finish
DSI-120-512 518 512 ( 20-5/32") 992 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 39

HANDLE H.- | 82SERIES

I
>
pa
)
=
m
2
-
C
S
=
n
Ro
=
pa
©)
W
%)

T
>
Z
O
=
m
0]
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)

8261 182 160 ( 6-19/64" ) 166

8262 214 192 ( 7-9/16" ) " 179

8263 246 224 ( 8-13/16" ) 41 (1-39/64) 192 25 250 Material Finish

8264 342 320 (12-19/32") 231 304 Stainless Steel Satin

el B MG

STEEL NO SCREW

HANDLE o

« Ideal for harsh and high corrosive environments.
« Compliant with SEMI S8-0701 guideline.

i ! )
I
Q} l [T
w
C
L
Material Finish
316 Stainless Steel Mirror
ltemNo. | D C L P w H h S | @d | Weight (g) | Box (pcs) |Carton (pcs)| Recommended Screw
MG-150 16 | 150 (5-29/32") | 172.8 |R6.5 62 | 56 (2-13/64") | 40 6| 6 295 10 40 M5
MG-190 18 190 (7-31/64") | 216.7 R7c 92 | 63 (2-31/64") | 45 a7 460 25 M5
MG-250 250 (9-27/32") | 275.5 145 | 68 (2-43/64") 595 s
MG-230T 230 ( 9-1/16" ) | 260.0 129 50 666 20
20 R9.0 70 ( 2-3/4" 10 | 9 M8
MG-300T 300 (11-13/16") | 330.0 199 ( ) 838
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



40

I
>
pa
)
—
m
2
-
C
—
-
n
Ro
=
pd
©)
W
%)

S3TANVH

HANDLE

SUGATSUNE

©

[COMPONENT]

L

~ B —

Mdx28
STAINLESS )

DL

!
) - T
*
I
Satin i ¢> i l
M4 x 0.7
¢ Depth S
Mirror Material M_Finis(hM)
. irror
303 Stainless Steel Satin (S)
Item No. L © H B S Weight (g) Box (pcs) Carton (pcs)
DL-70/M DL-70/S 70 64 (2-33/64") 23.0( 29/32") 44 20 200
DL-90/M DL-90/S 90 84 ( 3-5/16") 23.5(59/64") 55
DL-110/M | DL-110/S 110 104 ( 4-3/32") 24.0( 61/64") 13 10 65
DL-130/M DL-130/S 130 124 ( 4-7/8" ) 24.5( 31/32") 75 15 150
DL-150/M DL-150/S 150 144 (5-43/64") 25.0( 63/64") 86
@ M3x28
HA N D L E [COMPONENT & DS
B —=
!
S in
¥
‘ T
I ¢> I
\ M3 x 0.5
DS-30/S " DepthS
DS-90/M
Material Finish
. Mirror (M)
303 Stainless Steel Satin (S)
Item No. L © H B S Weight (g) Box (pcs) Carton (pcs)
DS-30/M DS-30/S 30 25 ( 63/64") 23.0(29/32") 8 15 40 400
DS-50/M DS-50/S 50 45 (1-25/32") 22.0( 7/8") 10 22 30 300
DS-70/M DS-70/S 70 65 ( 2-9/16") 22.5(57/64") 10 28
DS-90/M DS-90/S 90 85 (3-11/32") 23.0(29/32") 35 20 200
@ M5x28
HA N D L E ICOMPONENT &‘ EC
) B~
f
( ,F1
A
Satin T
| | |
\ M5 x 0.8
Depth S
Mirror " —
Material Finish
. Mirror (M)
303 Stainless Steel Satin (S)
Item No. L © H B S Weight (g) Box (pcs) Carton (pcs)
EC-100/M EC-100/S 100 92 ( 3-5/8" ) 32 (1-17/64") 10 102 15 150
EC-120/M EC-120/S 120 112 (4-13/32") 34 (1-11/32") 14 120
EC-150/M EC-150/S 150 142 (5-19/32") 36 (1-27/64") 12 148 10 100
EC-180/M EC-180/S 180 172 ( 6-25/32") 37 (1-29/64") 174

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



HANDLE

SUGHTSUNE

FB

' T
J = | |
i |
c M5 x 0.8
Depth S
Material Finish
304 Stainless Steel Mirror
Item No. L © H B T S Weight (g) Box (pcs) Carton (pcs)
FB-90 90 82 ( 3-7/32") 26 (1-1/32") 10.5 6 10 45 B85 280
FB-110 110 102 ( 4-1/64" ) 28 (1-7/64") 12.5 7 12 60 25 200
FB-130 130 120 (4-23/32") 32 (1-17/64") 14.5 8 14 93 20 160
@ M3x28
HA N D L E [COMPONENT & K B
L B —
!
4 F
)
‘ T
L |
\ M3x0.5
c ‘ Depth S
Material Finish
. Mirror (M)
KB-90/M KB-
%0/ 30/s 303 Stainless Steel Satin (S)
Item No. L © H B T S Weight (g) Box (pcs) Carton (pcs)
KB-30/M KB-30/S 30 25 ( 63/64" ) 23 (29/32") 8 18 40 400
KB-50/M KB-50/S 50 45 (1-25/32") 22 (7/8") 10 5 26 30 300
KB-70/M KB-70/S 70 65 ( 2-9/16") 22.5 (57/64") 10 33
KB-90/M KB-90/S 90 85 (3-11/32") 23 (29/32") 40 20 200
HANDLE O ] KS
[COMPONENT &
L B —f
!
ey
- i
‘ T
P |
\ #6-32
¢ ‘ Depth S
Satin
Material Finish
. ] Mirror (M)
M
frror 304 Stainless Steel Satin (S)
Item No. L © H B T S Weight (g) Box (pcs) Carton (pcs)
KS-430/M KS-430/S 81 76( 3" ) 45
KS-435/M KS-435/S 94 89 (3-1/2") 23 (29/32") 10 5 9 48 20 200
KS-440/M KS-440/S 106 102 ( 4" ) 54
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)

41

I
>
pa
)
=
m
2
-
C
S
=
n
Ro
=
pa
©)
W
%)

S3TANVH



42

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

S3TANVH

SUGATSUNE

HANDLE

STAINLESS

316

STEEL

©

[COMPONENT]

KC-S

#6-32x1
STAINLESS )

« Ideal for harsh and high corrosive environments.

12
2R

(1-3/16")

—r
-
~—230

Mirror ‘
P |
c #6-32
Satin L Depth 3/8"
|
Item No. L © Weight (g) | Box (pcs) | Carton (pcs)
KC-S635/M | KC-S635/S | 93.9 (3-11/16" |  88.9 (3-1/2") 67
KC-S640/M | KC-S640/S | 106.6 (4-3/16") | 101.6 ( 4" ) 71 20 200 R S
KC-S650/M | KC-S650/S | 132.0 (5-3/16") | 127.0( 5" ) 85 : Mirror (M)
KC-S660/M | KC-S660/S | 157.4 (6-3/16") | 1524 ( 6" ) 95 316 Stainless Steel Satin (S)
STAINLESS ~
HANDLE ® B Hs) Ek-s
[COMPONENT pa-iid STEEL STAINLESS
« Ideal for harsh and high corrosive environments.
14
(9/16")
~
|
1 I~ P ;-\
‘ =
@
. ™M~
Mirror i 1I—
I ( ) | A
. | c #8-32
Satin Depth 3/8"
L |
Item No. L © Weight (g) | Box (pcs) | Carton (pcs)
EK-S635/M | EK-S635/S | 95.9 (3-25/32") |  88.9 (3-1/2") 90
EK-S640/M | EK-S640/S | 108.6 (4-9/32") | 101.6 ( 4" ) 91 " 200 T S
EK-S650/M | EK-S650/S | 134.0 (5-9/32") | 127.0( 5" ) 13 : Mirror (M)
EK-S660/M | EK-S660/S | 159.4 (6-9/32") | 1524 ( 6" ) 122 316 Stainless Steel Satin (S)
STAINLESS Max25
316 | -
HANDLE %) ] xL-3s
Satin
e *
©
[/ A
‘ ‘ I
D ‘
XL-JS360TT
‘ c ‘ 10 (3/8")
XL-JS260TT M4 x 0.7
XL-JS165TT ‘ L " Depth 10
Item No. L © H Weight (g) Box (pcs) | Carton (pcs)
XL-JS165TT | 166 | 160 ( 6-19/64" ) | 30 ( 1-3/16") 81 15 150 T S
XL-JS260TT | 260 | 254( 10" ) | 33 (1-19/64") 122 FiTSTETelEERT
10 100 i
XL-JS360TT | 358 | 352 ( 13-55/64") | 36 (1-27/64") 166 316 Stainless Steel Combination

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 43

HANDLE O BEJHE] «kcr

T
>
* Ideal for harsh and high corrosive environments. %
=
12 m
@72 wn
0 :U
' =
8T ;
[se)
Mirror d> i o 0))]
#6-32 20
c . ; A
Satin L ‘ Depth 3/8' >
@)
. vy}
Item No. L © Weight (g) | Box (pcs) | Carton (pcs) wn
KC-R635/M | KC-R635/S 93.9 (3-11/16") 88.9 (3-1/2") 60
KC-R640/M | KC-R640/S | 106.6 (4-3/16") | 101.6( 4" ) 67 20 200 Material Finish
KC-R650/M | KC-R650/S | 132.0 (5-3/16") | 127.0( 5" ) 78 - Mirror (M)
KC-R660/M | KC-R660/S | 157.4 (6-3/16") | 1524 ( 6" ) 88 Sl Satilless Siee Satin (S)
T
HANDLE © O HE2 ekrR 2
RoHls STEEL STAINLESS | o
=
m
0p)
14
(9/16")
~
5
(SRS
Mirror (IE
Satin | |\ #8-32
Depth 3/8"
L |
Item No. L © Weight (g) | Box (pcs) | Carton (pcs)
EK-R635/M | EK-R635/S | 95.9 (3-25/32") 88.9 (3-1/2") 95
EK-R640/M | EK-R640/S | 108.6 (4-9/32") | 101.6( 4" ) 109 20 200 Material Finish
EK-R650/M | EK-R650/S | 134.0 (5-9/32") | 127.0( 5" ) 123 : Mirror (M)
EK-R660/M | EK-R660/S | 159.4 (6-9/32") | 1524 ( 6" ) 141 316 Stainless Steel Satin (S)
STAINLESS M4x25
316 ‘ -
HANDLE sie) M) XL-JSR
Satin
= 1
©
P
XL-JSR135TT T
XL-JSR100TT ‘ l
10 (3/8")
XL-JSR70TT M4 x 0.7
Depth 10
XL-JSR40TT
Item No. L © H Weight (g) Box (pcs) | Carton (pcs)
XL-JSR40TT 38 32( 1-17/64" ) | 27 (1-1/16") 26 30 300
XL-JSR70TT 70 64 ( 2-33/64" ) 35 20 200 Niaterial Eimish
XL-JSR100TT | 102 96 ( 3-25/32" ) | 30 (1-3/16") 51 : Mirror and Satin
316 Stainless Steel L
XL-JSR135TT 134 128 ( 5-1/32" ) 63 15 150 Combination
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



44

SUGATSUNE

HANDLE ECH

M5x28
STEEL ‘

I
>
Z L 1 B
¥
E Satin D —
R —1 |
L
w :
U
C Mirror ! |
'_ M5 x 0.8
6 c Depth S Material Finish
. Mirror (M)
Qo 303 Stainless Steel Satin (S)
A Item No. L C H B T S Weight (g) Box (pcs) Carton (pcs)
% ECH-75/M | ECH-75/S | 83 | 75(2-61/64") 115 10 100
D ECH-100/M | ECH-100/S | 108 | 100 (3-15/16") | 40 (1-37/64") 135 15 150
o ECH-125/M | ECH-125/S | 133 | 125 (4-59/64") 153 10 100
ECH-150/M 158 | 150 (5-29/32") 14 8 1 190 7 70
-200/M 2 200 ( 7-7/8" 244 1 1
ECH-200/ 08 | 200( 7-7/8 ") e 0 00
ECH-250/M 258 | 250 (9-27/32") 280 5 50
ECH-300/M 308 | 300 (11-13/16") 306
I
2 HANDLE H-] xL-cu
(W) Roks STAINLESS
=
i 16
n (5/8")
- L :
Safin|
®
N i
uy
| D |
|- C
- Depth 15
Item No. L © H Weight (g) Box (pcs) Carton (pcs)
XL-CUSOTT | 82 | 72 (2-27/32") | 32 (1-17/64") 12
XL-CUL00TT | 102 | 92( 3-5/8" ) | 34 (1-11/32") 136 10 100
XL-CUI20TT | 122 | 112 (4-13/32") | 36 (1-27/64") 163
XL-CUI50TT | 152 | 142 (5-19/32") | 38 ( 1-1/2" ) 200 I
XL-CUL80TT | 182 | 172 (6-25/32") | 40 (1-37/64") 234 8 Materal Finish
XL-CU220TT | 222 | 212 (8-11/32") | 42 (1-42/64") 282 40 : Mirror and
XL-CU300TT | 302 | 292 (11-1/2") | 44 (1-47/64") 372 6 30 303 Stainless Steel | o combination
M5x30
HANDLE H-] XL-CUR
L Satin
| 27
(D ‘
2-M5x0.8 <16 >
c Depth 8 (5/8")
Item No. L © H Weight (g) Box (pcs) Carton (pcs)
XL-CURBOTT | 80 | 70( 2-3/4" ) | 30( 1-3/16") 101 150
XL-CURL00TT| 100 | 90 ( 3-35/64") | 32 ( 1-17/32") 125 10 Material Finish
XL-CUR120TT| 120 | 110 ( 4-21/64") | 34 ( 1-11/32") 150 100 _ Viiar andl
XL-CURL50TT| 150 | 140 ( 5-33/64") | 36 ( 1-27/64") 183 5 75 803 Stainless Steel | gy Combination

www.sugatsune.com

1-800-562-5267

(USA.

Only)



SUGHTSUNE 15

M) 40 SERIES

HANDLE

I
>
Z
)
[
[T
v
T
C
[
H B
C T 1 Qo
R C 'J D 2
©)
W
(0]
Item No. L © H D Weight (g) | Box (pcs) | Carton (pcs)
40128 138 ( 5-7/16" ) | 128(5-3/64") 166
40160 170 ( 6-11/16" ) | 160 (6-19/64") | 35 (1-3‘;?64") 198 10 40 Material Finish
40192 202 ( 7-61/64" ) | 192 (7-9/16") 219 304 Stainless Steel Satin
>
0 '
= Z
HANDLE KPH 2
=
m
)]
15
(19/32")

Item No. L © H M Weight (g) Box (pcs) | Carton (pcs)

KPH-160 | 176 | 160 ( 6-19/64") . 100

KPH-192 | 208 | 192 ( 7-9/16" ) SO =) M4 x0.7 115

KPH-224 | 240 | 224 ( 8-13/16") 130 10 100

KPH-256 | 272 | 256 ( 10-5/64") | 50 ( 1-31/32") M5 x 0.8 143 Material Finish
KPH-288 | 304 | 288 (11-11/32") 160 304 Stainless Steel Satin

HANDLE -] DsI-110

<
g5
2] |
I I
A
c ‘ 6
' (15/64")
Item No. © L A Weight (g) Box (pcs) | Carton (pcs)
DSI-110- 96 96 (13-25/32") | 126 ( 4-15/16" ) 135
DSI-110-128 | 128 ( 5-1/16" )| 158 ( 6-3/16" ) 152 25 250
DSI-110-160 | 160 ( 6-5/16" )| 190 ( 7-1/2" ) 30 190
DSI-110-192 | 192 ( 7-9/16" )| 222 ( 8-3/4" ) (1-3/16") 230
DSI-110-320 | 320 (12-19/32") | 350 (13-13/16") 380 10 100 Material Finish
DSI-110-512 | 512 ( 20-5/32") | 542 ( 21-5/16" ) 610 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



46 SUGATSUNE

WIRE PULL (hse

S:T;AI‘!;LESGS e | SWP

STEEL STAINLESS

T [COMPONENT|
>
% « Ideal for harsh and high corrosive environments.
O o
5/16"
.U) ‘ L ‘ ( )
o
C 0
—
6 T
Qo | ‘G} |
P ‘ c #8-32
% Depth 5/16"
w .
wn Item No. L © H Weight (g) Box (pcs) Carton (pcs)
SWP-630/S 84.2 76.2( 3" ) 71
SWP-635/S 96.9 88.9 ( 3-1/2") 34 78 20 200
SWP-640/S | 109.6 1016( 4" ) (1-11/32") 85 Material Finish
SWP-696/S | 104.0 96.0 (3-25/32") 91 316 Stainless Steel Satin
3 WIRE PULL © B 58 He swr
T 316 |
STEEL STAINLESS
0
C ) . .
— « Ideal for harsh and high corrosive environments.
—
wn 210
~ L (3/8")
O
T
‘|'| h .| _/]
)]
m T
— G} ‘
E | |
A c |\ #8-32
m Depth 5/16"
g Item No. L © H Weight (g) Box (pcs) Carton (pcs)
- SWF-640 111.0 101.5 (4") 90 160
— SWF-650 136.5 127.0(5") 110 160
wn SWF-660 162.0 1525 (6") (1_33?8,,) 130 20 120
SWF-690 238.0 2285 (9") 200 120 Material Finish
SWF-6120 314.5 305.0 (12") 270 80 316 Stainless Steel Satin

OFFSET WIRE PULL (sF)

[COMPONENT]

H-75-BL-100

* Fastening nut not included.

109
(4-19/64")
[\
| 8
|
‘ 35
23
| T2
i
100
(3-15/16")
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
H-75-BL-100 130 80 400 304 Stainless Steel Mirror
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



WIRE PULL

SUGHTSUNE

©

H-42-B

47

[COMPONENT I
>
Z
)
-
L [Tl
i £
(@/%2 " ' No. Part Name Material Finish U
<@/=.= ‘ ©) Handle Mirror 'g
$ Wash Polished
/EI:I:IJ g Sor a?NZ;her 304 Stainless Steel |10 I
@ c pring Plain v
@ Nut QO
Item No. L Hz Hz B © R M Weight (g) Box (pcs) Carton (pcs) é
H-42-B-9 46 8.5 40 ( 1-37/64") - 15 50
22 46"
H-42-B-8 66 ( 55/46" ) 7.0 6 60 ( 2-23/64") 3.0 M4 x 0.70 20 100 500 8
H-42-B-14 86 10.0 80 ( 3-5/32" ) ' 27 250 wn
H-42-B-1 75 30 (1-3/16") 7 68 ( 2-43/64") 35 M5 x 0.80 40
H-42-B-2 109 1.0 9 100 ( 3-15/16") 4.5 ' 80 50
H-42-B-3 120 ' 110 ( 4-21/64") 120 150
40 (1-37/64" 1 b M 1.
H-42-B-4 130 0 (1-37/64") 0 120 ( 4-23/32") 50 6x1.00 125
e e I R
1-31/32" 20. 12 b M 1.2 —
H-42-B-6 250 50 (1-31/32") 0-0 238 ( 9-3/8" ) 6.0 8x1.25 320 20 0 Py
H-42-B-7 300 288 ( 11-11/32") 365 m
Y
C
WIRE PULL © H-42-C  F
L oB
T o
G oM Material Finish
Depth S 304 Stainless Steel Mirror
Item No. L H B © S M R Weight (g) Box (pcs) Carton (pcs)
H-42-C-8 66 22 ( 55/46" ) 60 ( 2-23/64") 18 100 500
7 M4 LA d
H-42-C-14 86 6 80 ( 3-5/32" ) x0.70 3.0 25 250
H-42-C-1 75 30 ( 1-3/16") 7 68 ( 2-43/64") M5 x 0.80 35 30
H-42-C-2 109 9 100 ( 3-15/16") 8 ' 45 65 50
H-42-C-3 120 110 ( 4-21/64") 100 150
40 (1-37/64" 1 M 1. !
H-42-C-4 130 0 (1-37/64") 0 120 ( 4-23/32") 6x1.00 50 105
H-42-C-15 162 150 ( 5-29/32") 185 30 60
H-42-C-5 200 188 ( 7-13/32") 220
1-31/32" 12 1 M 1.2 !
H-42-C-6 250 50 (1-31/32") 238 ( 9-3/8" ) 0 8x1.25 60 265 20 0
H-42-C-7 300 288 ( 11-11/32") 300
STAINLESS
316 @ - -
WIRE PULL sie| & H-42-F14
« Ideal for high corrosive environments.
86
(3-25/64")
~
% s
‘ 80
(3-5/32")
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
H-42-F14 25 50 250 316 Stainless Steel Mirror

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



48

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

OFFSET WIRE PULL

SUGATSUNE

©

[COMPONENT]

compaent

L

H

)y

@D

-75-C

2-M Depth (S)

C
Material Finish
304 Stainless Steel Polished
Item No. L1 L2 S H © oD M Weight (g) Box (pcs) Carton (pcs)
H-75-C-66 66 30.0( 1-3/16") 60 (2-23/64") 23
16 7 6 M4 100 400
H-75-C-86 86 31.5(1-15/64") 80 (3-5/32") 28
H-75-C-108 108 32.0(1-17/64") | 100 (3-15/16") 54
18 10 8 M5 50 200
H-75-C-128 128 40.0(1-37/64") 120 (4-23/32") 70

©

[COMPONENT]

LF-12

¢ M5X30
RoHs STAINLESS

OFFSET WIRE PULL

S3TTANVH 9NIA104 / ST11Nd 3dIM 13S440

T
= |\ 2-M5 x 0.8
N 7
32 \ 5. depth 10
@ \ x
N
——30—= _
c N
L 50 Sc
Item No. L © Weight (g) Box (pcs) Carton (pcs)
LF-12-96 108 96 (3-25/32") 182 80 _ _
LF-12-128 140 128 (5-3/64") 211 10 60 Material Finish
LF-12-160 172 160 (6-19/64") 236 304 Stainless Steel Satin

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 49

HANDLE 4 TR

T
>
* A rounded handle for a comfortable grip. Z
» Wide grip. O
-
[T
v
T
C
[
[
@ 7 ()]
& 1
& Ro
C St A
\ %M pd
od:
od: ©)
P us]
(0]
L1 B:
!
("
- @ T
" >
e >
L e—— B —>
)
—
m
)]
Item No. L L1 B1 B2\ H| T |t M P1 P2 | d1 | d2 |Weight (g)
FT-R-120|120 (4-23/32")| 106 |36 ( 15/32")| 12 | 27 |5.5|7 | 12| 108 ( 4-1/4" )| 24 |45| 85 140 Material Finish
FT-R-160(160 (6-19/64")| 142 |48 (1-57/64")| 16 | 36 | 7 | 9 | 16 | 144 (5-43/64") | 32 |5.5(10.5| 285 304 Stainless Steel Mirror

HANDLE 318 FT-T

STEEL STAINLESS

* A shape with heavy feeling rounded inside
allows for easy gripping.

» Wide grip.
a
/72 *
&
odi
od.
P
Li B.
4% i _
: F@ bred | | A
3 ‘«M’ ‘ ‘
L le—— B1 ——|
Item No. L L1 B1 | B2 | B3 H T t M P1 P2 | di | d2 |Weight (g)
FT-T-120 | 120 (4-23/32") | 105 [39.3| 10 | 15 | 285 | 6 | 7.0 |19.0| 96 (3-25/32")| 24 |45| 85 225 ‘
FT-T-170 | 170 (6-11/16") | 150 |53.3| 12 | 19 | 38.0 | 7.5|10.0|25.5|135 ( 5-5/16")| 32 | 5.5 [10.5 500 Material Finish
FT-T-220 | 220 (8-21/32") | 200 [69.3| 15 (24.3| 49.5 | 9.3 |13.0|32.5|176 (6-59/64")| 41 | 6.5 |12.5| 1000 316 Stainless Steel Mirror
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



50 SUGATSUNE

HK

FOLDING HANDLE

I
>
Z * 90-degree folding handle.
O » Handle clicks into open and closed
- position.
[Tl
%
o
C
[
[
(0)]
Ro
x Il
2 € 3
@) 7 T pui
CU 210
m L (3/8")
L ,_‘%
/L | \ ‘ : |
Bt
LE?I {%} & | \ C__Jio
¥
c ot1e \2-M6x 1

Item No. C L Load Capacity (kg) Weight (g) Box (pcs) Carton (pcs)

HK-80 80 ( 3-5/32" ) 88 125

HK-100 |100 (3-15/16" ) | 108 50 (110 Ibs) 136 10 100 Material Finish

HK-120 |120 (4-23/32" ) | 128 146 304 Stainless Steel Mirror

STAINLESS

316 2LC

STEEL STAINLESS

TRANSOM HANDLE (sF)

[COMPONENT]

« Ideal for harsh and high corrosive environments.

S3TANVH NOSNVYHL / S3TANVH

2 —od, od:

Material Finish
316 Stainless Steel Mirror
Item No. L L1 C B:1 B2 H h1 hz t d d: |Weight (g) | Box (pcs) | Carton (pcs) | Screw
2LC-80 80 32 | 64 (2-33/64") | 16 14 |35 ( 1-3/8" ) 55 4.0 8 5 95 70 12 144 4% 20
2LC-120 | 120 64 96 (3-25/32") | 18 16 | 36 (1-27/64") ' 45 9 ’ 106 8 96
2LC-150 | 150 89 | 128 (5-1/32") | 21 18 | 42 (1-42/64") | 6.0 ’ 10 6 11.0 172 6 72 5 x 32
2LC-180 | 180 | 118 | 160 (6-19/64") | 23 20 | 45 (1-49/64") | 6.5 | 5.0 ’ 225 3 36
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 51

siel €1 31C

STEEL NO SCREW

TRANSOM HANDLE

2-pd

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

N | ANV £

[s=] —
)
>
Z
()]

: _ @)
Material Finish =z

316 Stainless Steel Mirror
I

Item No. L1 L2 w H: Ha Hs C d Weight (g) Box (pcs) Carton (pcs) >

3LC-120 120 | 29 20 30 (1-3/16") 6 5 105 (4-9/64") 35 90 100 0 Z

3LC-130 130 | 30 22 33 (1-19/64") = 6 115 (4-17/32") ’ 120 Ig

3LC-145 145 | 35 25 34 (1-11/32") 125 (4-59/64") 6.5 155 80 400 m
0p)

TRANSOM HANDLE © A& 4.C

[COMPONENT STEEL STAINLESS

« Ideal for harsh and high corrosive environments.

4 —0od, ad:
ﬁ\ +
&
— — — ) I oY)
I }7«’
| e |
-/
B:
—
[ S+ N\ £67
il @% Y | L
L
c B
- L -
Material Finish
316 Stainless Steel Mirror
Item No. L L1 C B:1 B2 H ha h2 t d d: | Weight (g) | Box (pcs) |Carton (pcs)| Screw
4L C- < " 5(1- K : :
C-82 82 46 | 64 (2-33/64") 0 G 36.5(1-7/16") | 5.5 | 4.0 8 5 05 110 8 96 4% 20
4LC-114 114 78 | 96 (3-25/32") 40.0 (1-37/64") a0 | as 9 148 6 72
4LC-150 | 150 | 106 |128 ( 5-1/32") &0 18 |45.0(1-49/64") ’ ’ @ 5 | ma 210 3 36 5% 32
4L.C-180 | 180 | 140 |160 (6-19/64") 20 |48.0(1-57/64") | 6.5 | 5.0 ’ 270 2 24
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



52 SUGATSUNE

HANDLE MH-P

2x@54
——Tah + Made with PVC material:
LJJ—'ﬁLJ - Ideal for semiconductor, manufacturing
(3_1‘;‘]6‘,) machinery and transparent applications.
R0 (1601~ - Weather proof, chemical proof
1 « High profile allows for handle to be easily grasped
j o 2, with gloved hands.

ey #j_T 2 « Environmentally friendly PVC, lead-free.

[FAY S [ N A « Compliant with SEMI $8-0308 guideline.

* Requires two 3/16" (5 mm) diameter screws for

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

f;ﬂm i 8212 installation. Screws not included.
gr— 1 )
150 ‘20'5’ﬁ High profile makes it easier to
(R10) i d use with gloves
4
| RN
94 ! } b 4
‘ 150 — ‘w L J
(5-29/32") 24
b 170 1
(6-11/16")
Item No. Weight (g) Box (pcs) Carton
MH-P120 34 64 640 Material Finish
MH-P170 56 48 480 Polyvinyl Chloride (PVC) Clear
T
= ) Y
z HANDLE —— VLS
g (eramess)
—
m
wn ( * Rubber grip allows for an easy
M| | i
¥ I @‘]‘ and comfortable grip.
« Lightweight design.
c @d,0d:
[N
Mirror = o=
i L Material Finish
) Mirror (M)
304 Stainless Steel Satin (S)
Satin
* Grip - Black/Synthetic Rubber
Item No. L L1 @ B H h t d d1 |Weight (g) | Box (pcs) | Carton (pcs) | Screw
US-70/M Us-70/s 70 | 20 | 54( 2-1/8" )| 17 | 28.0( 1-7/64") 21 55 | 33 | 6.6 20 20 200 3.1x16
US-120/M | US-120/S | 120 | 57 |102( 4-1/64")| 19 | 32.0(1-17/64") 65 | 38 | 7.6 45 3.5x 20
US-160/M | US-160/S | 160 | 88 |140(5-33/64") | 22 | 37.5(1-15/32") | 23 75 | 41 | 81 70 10 100 4.1 %25

HANDLE (sF)

[COMPONENT]

EC-H

4-05.5,08.2

@me
+30,J

C
L1 14
\ A
| J—«zo 50
Material Finish
303 Stainless Steel Mirror
Item No. L L1 @ H Weight (g) Box (pcs) Carton (pcs) Screw
EC-H-135 135 120 115 (4-17/32") 40 (1-37/64") 191 5 50 3.1x16
EC-H-165 165 150 145 (5-45/64") | 42 (1-21/32") 216 3 30 3.5 x 20
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



HANDLE

SUGHTSUNE

ym

FT-110S

=5
‘ 2-04.6
0 o3
©
N=
| | =
(12.6) 7) 15
110
(4-21/64")
- 124
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
FT-110S 60 50 200 304 Stainless Steel Satin
© O E
HANDLE FT-65, 80, 100
c @d1, 0d2
L1 B
|
p—— =
(mpep)\ IR
‘ a5 m| ‘ |
T [ T Y
f f
l— M —| = ‘¢ By
L
Material Finish
304 Stainless Steel Mirror
Item No. L L1 c B1 B2 H T t M di d2 | Weight (g) | Box (pcs) | Carton (pcs) Screw
FT-65 65 | 47 | 57( 2-1/4" )| 13 7 16 ( 58" ) | 35 | 40 | 13 33 6.4 19 40 480 31x16
FT-80 80 | 61 | 72(2-27/32")| 14 8 20 (25/32") | 40 | 45 | 14 ) 6.4 32 30 360 )
FT-100 | 100 75 | 88(3-15/32")| 18 10 25 (63/64") 5.0 8.5 18 4.1 8.0 58 20 240 3.8 x20
© O E
HANDLE @ FT-120, 150
| ! |
:l 1 I: )
c %ﬂd‘,ﬂdz
| L1 ~—r B2
|
— w T 4
* I
qZI I b ! m|
<M= ——B‘——J
| L
Material Finish
304 Stainless Steel Mirror
Item No. L L1 C Ci1 | B1| B2 H T t M | d1 | d2 |Weight (g)| Box (pcs) | Carton (pcs)| Screw
FT-120 | 120 | 102 | 106 ( 4-11/64") | 24 | 36 | 12 | 27(1-1/16") | 5 7 |14 |41 80 105 10 120 3.8 x 20
FT-150 | 150 | 126 | 132 ( 5-3/16" ) | 30 | 45 | 15 | 33(1-19/64") | 6 8 | 18 | 5.3 |104 191 5 40 5.1 x 25

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

53

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

S3TANVH



54 SUGATSUNE

HANDLE

B2 Ecvy

I
>
Z
O
[
[Tl
w
o
05.5,08.2
C
[
»
2 o )€
| — —_—
A
Z ¢
O
w
0]
L4 - 14 |=
1
| S
()
T o
T T\ 4 |
> Hi | .";'. H
% e M i B j’
I L
m
wn Material Finish
303 Stainless Steel Mirror
Item No. L L1 © B H T M Weight (g) Box (pcs) | Carton (pcs)
EC-Y-140 138 100 ( 3-15/16") 120 (4-23/32") 38 ( 1-1/2" ) 142 5 50
EC-Y-160 158 120 ( 4-23/32") 140 (5-33/64") 20 40 (1-37/64") 6 28 160 3 30
EC-Y-190 188 150 ( 5-29/32") 170 ( 6-11/16") 42 (1-42/64") 185 2 20
HANDLE e MJIH
| Nut « Handle can be installed from both front and back.
« Cap hides screw heads for clean appearance (option).
3 colors available.
/ MBHMBIEOR « Rounded inside allows for easy gripping.
;\ « Caps are tightly fixed to prevent from falling off.
« Possible to customise cap color from 3,000 pcs.
MIH-150 Q ; * MJH-150 is compliant with SEMI standard (SEMI S8-0308).
© Without cover cap
MJH-120 | © B
Cover cap \'\
id I L 1)
(sold separately) % ) |
MJH-93 Installation 218 B— Cover cap (sold separately)
=11 <
? ¥ II’
&8 G2 =4
. - - T
MJHC-YE ~ MJHC-GR  MJHC-BL olereap [L{op) We
e sonmrate (e senbrate N
(sold separately) (sold separately) <I)
o
A-A section
Item No. Material Color Weight (g)
M6, M8 Bolt MJHC- BL Black
MJHC-GR |Polyamide Gray 1.4
Surface Mount Back Mount T MJHC-YE | Yellow
Item No. | Load Capacity (kgf) | Material | Finish P L1 L2 D S Hi1 Hz2 | W1 | W2 |Weight (g)
MJH-93 93 (3-21/32") | 119 (4-11/16")| 67 | 6.5 | 10.2 | 42 (1-21/32") 335|250 | 213 162
MJH-120 46 (101lbs) Polyamide | Black | 120 (4-23/32") |146 ( 5-3/4" )| 94 | 8.5 | 13.2 | 47 (1-27/32") 385|265 | 22.4 180
MJH-150 150 (5-29/32") |176 (6-59/64")| 124 | 8.5 | 13.2 | 52(2-3/64") | 43.5| 28.0 | 22.5 206
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE

LARGE TRANSOM HANDLE

STAINLESS

316

STEEL

[comPONENT

M6x35
STAINLESS

FT-200, 280

=
fﬁ

Material Finish

316 Stainless Steel Mirror

Item No. L L1 C C1 B1 B H T t M Weight (g) | Box (pcs) |Carton (pcs)
FT-200 | 200 | 170 175 ( 6-57/64") 45 22 70 50 (1-31/32") 8 10 25 586 1 20
FT-280 280 | 250 253 ( 9-31/32") 55 26 80 62 ( 2-7/16") 10 12 27 1088 10

HANDLE

KMH

KMH-150
KMHC-WT  KMHC-GR KMHC-BU KMHC-BL
Without cover cap Cover cap (sold separately)
) % S
/ | J
KMH-120 ' 2
C 28 |
T
KMH-100 t i i @ E 2
22.2—>| S 5 =
MS bolt 78" ﬁZ ﬁawz 31’ ]
. o . <& T
0d = U er ‘
oo ia = ! fEs
20.7— - 12-
(13/16") (15/32")
- |
Installation Cover Cap (Sold Separately) G$ E%g@ 2D
m COVER CAP !
Item No. Material Finish Weight (g)
KMHC-WT White
KMHC-GR PBT _ Grey 07
KMHC-BU Light Blue
KMHC-BL Black
= HANDLE
Item No. Load Capacity (kgf) Material Finish L A B P Weight (g)
KMH-100 . 125 (4-59/64") 116 85 100 (3-15/16") 162
KMH-120 51 (112 Ibs) Zinc Alloy Cﬁ?:r?]e 145 (5-45/64") 136 105 120 (4-23/32") 180
KMH-150 175 (6-57/64") 166 135 150 (5-29/32") 206

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

55

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

S3TANVH WOSNVYHL 394V



56

I
>
pa
)
—
m
2
-
C
—
-
n
Ro
=
pd
©)
W
%)

S3TANVH

HANDLE (GOLD PLATED)

SUGATSUNE

M5x45
STAINLESS

TMH

« Base plate TMH-M35 available (sold separately).

~
i =
1=
L —
Y
& A H 1
N i g
<
¥ T {%}* '
@ |
o 235
e 4-M5 x 0.8
* BASE PLATE C Depth 19
Item No. Material Finish Weight (g) Box (pcs) | Carton (pcs)
TMH-M35 Brass 24K Gold Plating 28 2 20
« HANDLE
Item No. L © Weight (g) |Box (pcs)|Carton (pcs)
TMH-96 176 ( 6-59/64" ) 96 ( 3-25/32") 259
TMH-128 208 ( 8-3/16" ) | 128 ( 5-1/32") 280 a 10
TMH-160 240 (1 9-29/64" ) | 160 ( 6-5/16" ) 301 Material Finish
TMH-192 272 (10-45/64") | 192 ( 7-9/16" ) 320 Brass 24K Gold Plating (Body), Black Nickel (Ring)
M4x28
HANDLE H-] DLB
CR
L
PB
| D |
c M4 x 0.7
Depth 12
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs) Material Finish
DLB-96/CR 1022 | 96(3-25/32") | 27 (1-1/16") 785 20 200 Brass Ceie (©3),
DLB-96/PB ' ’ Polished Brass (PB)

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 57

HANDLE B KK-H

I
>
« Silver ion coated on all finishes except black. Z
O
[
[Tl
[
o
C
[
[
(0)]
Ro
A
Z
O
W
(0]
BL
I
>
SBR =z
O
—
[T
)]
SSG
SNI
L
Depth12
Item No. Material Finish/Color L C H Weight (g) | Box (pcs) | Carton (pcs)
KK-HBOSNI Nickel + Silver lon Coating
KK-HB0SSG Satin Gold + Silver lon Coating 78 70 28 0
KK-HB80SBR Brown + Silver lon Coating (3-1/16") | (2-3/4") | (1-3/32")
KK-H80BL Black
KK-H110SNI Nickel + Silver lon Coating
KK-H110SSG : Satin Gold + Silver lon Coating 108 100 29
T KKHIIOSBR | Aluminum Alloy Brown + v (4-1/4") | (3-15/16") | (1-9/64") 25 25 200
KK-H110BL Black
KK-H130SNI Nickel + Silver lon Coating
KK-H130SSG Satin Gold + Silver lon Coating 128 120 30 30
KK-H130SBR Brown + Silver lon Coating (5-1/32") | (4-23/32") | (1-3/16")
KK-H130BL Black
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



58 SUGATSUNE

HANDLE Hol XLA-HA

T
>
Z
O
[
I 16
172 / ]
- 8 |
c g2
- LI (D | 1 F
(0p) T 4‘\ ‘
C
R : T
A
Z
O
o Item No. L C Weight (g) Box (pcs) Carton (pcs)
0p) XLA-HA96 109 96 (3-25/32") 132
XLA-HA128 141 128 ( 5-1/32" ) 142 20 80
XLA-HA192 205 192 ( 7-9/16" ) 144 No.| Part Name Material Finish
XLA-HA256 269 256 (10-5/64") 180 9 - @ Bar Aluminum Alloy | Anodized
XLA-HA320 333 320 (12-19/32") 200 @ Post Zinc Alloy Matte Silver

HANDLE H-] SGH-200

* SGH-200 is a specially insulated handle designed to reduce
shock from static electricity build-up as well as inhibit bacterial
transfer.

* Textured, soft handle improves grip in manufacturing
environments where lubricants are used, improving conditions
when slippage is a safety concern.

* Un-obtrusive light blue color.

« Suitable for use in environments -22°F to 176°F (-30°C to 80°C).

* For use in medical, pharmaceutical, and electronic equipment;
for use in educational, institutional, and industrial facilities
where limiting transfer of static electricity or bacteria is
important to operations.

S3TANVH

Note: Details provided for this hardware’s properties/specifications are for general information only.
Grounding is required to discharge electricity, and shock reduction is effective only when installed on
electrically conductive surfaces. Safety of a final product or equipment is not guaranteed when used
as a component. This hardware is designed to reduce-not completely eliminate-shock from static

174.6
(6-7/8%)

(7708 i electricity. Sensitivity to shock may vary.
Properties of Special Elastomer Coating Pathway of Electrical Discharge
(kv) (kv)
10 10
/ Insulating Layer _— :j [
// \ // \ /]
ch N© |
HOCH
: f ® o
\\ ]
!
% 10 15 sec % 10 15 sec In the figures above, a human hand with a positive charge is
approaching a conductive surface with a negative charge (e.g.,
GraphlA Graph_ B . metal). The figure on the right incorporates a layer to insulate
Touching a standard metal handle Touching an insulated handle the discharge

The y-axis represents the natural voltage of the human body (in kiloVolts), and . . . .
the x-axis represents elapsed time (in seconds). Contact with the hardware Direct physical contact with a conductive surface (metal,

occurs at the 4 second mark. etc.) may result in a discharge of static electricity, causing
discomfort. The insulating coating of the SGH-200 acts
There is an instantaneous discharge to OkV in Graph A, as a buffer to reduce the rate of discharge and lessen the

compared to a delayed discharge to 1kV over 2 seconds in resulting shock (depicted above). The elastomer used
Graph B. This would result in a stronger electric discharge for insulation incorporates a resin specially formulated for
and shock for a metal handle (Graph A) compared to the a specific conductivity.

SGH-200 (Graph B).

Item No. Color Material Weight (g) Box (pcs) Carton (pcs)
SGH-200 Light Blue Base Material: Polyamide; Coating: Special Elastomer 250 20 200
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 59

HANDLE

I
>
Z
O
\ ‘ T 7 [
BEe—T——7&71] m
‘ z w
L+ o
1 i =
1 T r
! (0)]
I
i 0D \W l R
[N nE x
Z
c O
= L=\ 2-M6 Depth (9) w
0]
Item No. L1 L2 C S W H: H2 | Weight (g) | Box (pcs) |Carton (pcs)  Material Finish
SAZ-121 | 121 17 102 (4-1/64") 9 10 |27.7(1-3/32") | 5.2 85 40 400 Zinc Alloy Chrome

HANDLE 936 SERIES

ol ¥
| (steed

S3TANVH

L 9= 5
| <
i i f
‘ J <
I ' Q §
P :
10 11
c 2-M4x0.7
Depth S
Item No. L C S Weight (g) Box (pcs) | Carton (pcs) Screw Material Finish
936- 55-SCR 66.5 55.0 (2-11/64" 8 40 M4 x 25 . Satin Chrome (SCR
( ) 50 200 |AX2 Zinc Alloy : (SCR)
936-100-DC 112.0 100.5 (3-61/64" ) 10 52 M4 x 28 Dull Chrome (DC)

HANDLE Y

KAKU-A

2-d

Depth7
Item No. L H | B © M| D | Weight(g) Box (pcs) | Carton (pcs)
KAKU-A161 84 (3-5/16") |24 | 7 78 (3-1/16") | 7| M3 46 35 420
KAKU-A160 99 (3-15/16") | 25 | 8 92 (3-5/8") | 8| M4 58 30 360 Material Finish
KAKU-A159 124( 4-7/8" )| 29 | 9 | 113 (4-7/16") |11 | M4 103 20 240 Brass Dull Chrome

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



60 SUGATSUNE

RECESSED PULL (W/VENTILATOR) UTA-105

« Easy to grip.
« Ventilating area is invisible from the front.
UTA-105BL « Excellent chemical resistance.

UTA-105GR

UTA-1051V

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

Installation

3276+
(1-17/64")

(35/64")

—»+13.7+—=-73
(9132")
gh
!
|
!
g
\_Y

I I 1 0010.5
(3-15/16")
929
(3-7/8")
105 Panel Cut Out Dimensions
(4-18")
105
(4-1/8")
86
(3-3/8")

(1-1/4")

40—

(1-37/64")

e—31.9—+

g
\

40—~
(1-9/16")
N
\/

(OLVIILNIA/M) ST1Nd d3SS3ID3d

L ' A '
[\ o0
1Y
Ventilator Air Circulation
Item No. Panel Thickness Weight (g) | Box (pcs) Carton (pcs) No. Material Finish

UTA-105BL 0] 304 Stainless Steel Satin

UTA-105GR 18~25mm (11/16"~1") 40 15 150 @
_ — AB Black (BL R)/I \%

UTA-1051V o S ack (BL)/Grey (GR)/Ivory (1V)

RECESSED PULL O uT

[COMPONENT]

L
T
Installation
—— —= ‘4>
T
1
L1 a a
l— By —
Item No. L Li | H h B B1 a | Weight (g) | Box (pcs) | Carton (pcs) i _
UT- 75/S 75 (2-61/64") | 71 |7.0 |15.5| 36 |30.8| 0.4 15 40 400 Material Finish/Color
UT-105/S 105( 4-1/8") | 99|75 |155] 40 [325] 0.5 30 25 250 304 Stainless Steel Satin (S)
UT-140/S 140 (5-33/64") |134 | 7.5 [15.5| 47 [40.5] 0.5 45 15 150 Plastic Black
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 61

RECESSED PULL Bl YK-70

>
(20) « Ideal for pocket door application. Z
(25132°) W)
-
[Tl
‘ 92)
2045085 -
24— —| 20.5 =
(15/16") (13/15) 04 2 E
18- 3.3->t— . 22 3.5-mj= o
t & 1= r
2 777 '% 2 = r - U)
T —~ |~ - : E
B 2.z &3 BEEN R0
| 3= R o= ENY
h J ad I« ! 7
A Z
gﬁ Door Thick O
oor ICKness:
min. 30 mm 8
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
YK-70 37 20 200 304 Stainless Steel Satin
)
RECESSED PULL —{ YK-W100 &
STAINLESS ) m
)]
- 0
« Ideal for pocket door application. m
(20)
(25/32") U
o
C
4, 18 I_
24—+ 04.5,08.5 18 =
(15/16") — (45/64) 5
=181 3.3 24 20
3.5
| s Hak
ES e ta l @ |
g «
— D hick :
© o s
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
YK-W100 45 20 160 304 Stainless Steel Satin
Y
RECESSED PULL (W/DOOR STOPPER) : HH-P135
- 40 —| (13.5) 30~40 .
sries) (A8~ « Door stopper can be flipped-out to
p% prevent door from entering pocket and
: = = pinching fingers.
& | S « Door stopper can be flipped-in to
A= }é} 157 completely open the door.
ge ! B @ X « Applicable door thickness: 30~40 mm
T2 s (1-3/16"~1-9/16")
l @/ « Can be used on door thickness up to
HH-P135/CR - - = 50 mm (1-31/32") by using longer M4
screws. (Not supplied.)
T © « Also available in Satin Nickel (SN) finish.
5l
6.1x9.1 M
6.1 Bore Dimensions
K:IKS ﬁ *In case of using counterplate, change the gap (marked %) to 7 mm (9/32") to
HH-P135/DC 3 okl ® 1° prevent the stopper and plate from hitting or scratching.
40—~ *counterplate A =
No. Material Finish/Color
Item No. Door Thickness (mm) | Weight (g) Box (pcs) Carton (pcs) @ Zinc Alloy Chrome (CR), Dull Chrome (DC)
HH-P135/CR @ Polyurethane -
HH-P135/DC 30-40 290 ° 50 ® Steel Chrome (CR), Dull Chrome (DC)

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



62 SUGATSUNE

RECESSED PULL O O e HE] HH-KS

STEEL STAINLESS

T [COMPONENT|
Z « All-stainless steel model ideal for harsh and high
@) corrosive environments.
-
m
wn ~——114 (4-31/64") —=|
'_U ~—96 (3-25/32") = & 4 R17.5 f“?m
= Bt ||l
c Be=— B Sete || TR
. == ) —5 )
0] 83— © o 0 B
QO han = Cut Out Dimensions
© Bore Dimensions for for sheet metal
PN | = - { wood panel
© -
Z i & T
O S 86 0 3 ) =r10-=w
w - M4 x 0.7 ~ -
n . _
No. Part Name Material Finish
Item No. Finish Weight (g) Box (pcs) Carton (pcs) @ Face Plate 316 Stainless Steel Mirror/Satin
HH-KS114M Mirror @ Case ) Satin
HH-KS114S Satin 110 10 60 @ EFEET 304 Stainless Steel I —

m
STAINLESS M4x8
O RECESSED PULL ® si6| Ml HH-DS
m STEEL STAINLESS
0]
n : . .
m « All-stainless steel model ideal for harsh and high
(W) corrosive environments.
o
Ig — 114 (4-31/64") — R17.5
— =— 96 (3-25/32") — 4 ©
— (<]
wn it iy SNt g 1 T
& Sl he© N «—108—
i ] Yo g L]
,,,,,,,,,,, ¢ @ v T T
z )
f«e——83— © un.o) . .
= Cut Out Dimensions

Bore Dimensions for for sheet metal

j wood panel

-

10.5E
5len]

n
T,
86 0~ [}
2Max07/ @Z%OL?}
No
@
@
®

Part Name Material Finish
Item No. Finish Weight (g) Box (pcs) Carton (pcs) Face Plate 316 Stainless Steel Mirror/Satin
HH-DS114M Mirror Case Satin
- 105 10 60 304 Stainless Steel —
HH-DS114S Satin Spacer =

me| M2 HH-K

STEEL STAINLESS

RECESSED PULL (s I ¢

[COMPONENT S

114
(4-31/64")

s 415 Depth 15.5
(3-25/32") ‘
-PRTIIIIIIIIIIIIIIITIINNNNIIIIININ - 190684' 04.5
&) \ >

Bore Dimensions for wood panel.

(1-39/64")
—34.6 —

re}
83 f _ﬁ% D)
=<4 $
L 86 _ %
96— S

41—

>l le20

[= 0
i i
g I
M44 07 Cut Out Dimensions for sheet metal.
107.6 D >t<h- Put sheet metal between front and
epth 8 back part for sheet metal applications.
(Max. sheet metal thickness: 2 mm)
Material Finish/Color
Item No. Weight (g) Box (pcs) Carton (pcs) 316 Stainless Steel Mirror
HH-K 90 10 60 ABS Black

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 63

RECESSED PULL © BEEHEL] HR-D

STEEL STAINLESS

[COMPONENT %
@ 3111/?54") $® P
96 4~ 15 = < @)
(3-25/32") : 9 I
777777777777777777777777777777777777 [ Depth 15.5 ¥ m
: S 9%\ 945
i@i( ) o &< 2 == :
VT / & @ ™ -U
N 2 l = \ | Bore Dimensions for wood panel. C
© o> ;
83 e}
. J——tém n
c 2 ©
e Y JIANE] Ro
R i * L—ae—»‘ kN x
J} ¥ l—— 96 —~ S
04.5 ! Z
107.6 M4 x 0.7 Cut Out Dimensions for sheet metal. O
’ Depth 8 Put sheet metal between front and w
back part for sheet metal applications. wn
(Max. sheet metal thickness: 2 mm)
Material Finish/Color
Item No. Weight (g) Box (pcs) Carton (pcs) 316 Stainless Steel Mirror
HH-D 85 10 60 ABS Black
A
m
RECESSED PULL SP O
m
9]
()]
[T
O
|———— L ——— H - h _U
C
[
[
()]
Installation
] R S, a
Q
l Material Finish/Color
304 Stainless Steel Satin (S)
Brass (SP-35/PB only) | Polished Brass (SP-35/PB)
Plastic Black
Item No. L B H h D d Weight (g) Box (pcs) Carton (pcs)
SP-35/S 44 (1-47/64") 44 (1-47/64") 9.8 (25/64") 35.1 31 10 100 1000
SP-38/S 47 (1-27/32") 47 (1-27/32") N 37.6 34 11 60 1440
SP-48/S 57 ( 2-1/4") 57 ( 2-1/4") 2.2 103 (13/32") 48.6 44 16 50 1200
SP-35/PB 44 (1-47/64") 44 (1-47/64") 9.8 (25/64") 35.1 31 10 100 1000

v M - | HH-FB, HH-FC

STAINLESS

RECESSED PULL (sF)

[COMPONENT]

=]

° W‘i t
oxT
L) Q—{ ¢
4-94.5 /
¢ V Cut Out Dimensions
T “ 43:*4?1 e T ) “'*'*’iﬂ No.| PartName | Material | Finish
T [ ] o £ [ ] & @ | FrontPlate
31 L G - @ril r @&Jl @ | BackCover | (3 | wirror (M)
® M4 Stud Steel Satin (S)
HH-FB HH-FC ® M4 Nut
Item No. Stud/Nut (L) L2 Ls (Hz) Ha Hs Ha P1 P2 (Ps) Weight (g)
HH-FB-1/M | HH-FB-1/S | M4 Stud
HH-FC-1/M | HH-FC-1/S | M2 Nut 138.0 96.0 99 88 62 21.0 64 110 65 115 170
HH-FB-2/M | HH-FB-2/S | M4 Stud
HH-FC-2/M | HH-FC-2/S | M2 Nut 109.5 67.5 73 64 40 14.5 42 88 38 13.0 100
HH-FB-3/M | HH-FB-3/S| M4 Stud
HH-FC-3/M | HH-FC-3/S | M4 Nut 94.0 61.0 63 60 43 12.0 45 76 32 14.5 80

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



64 SUGATSUNE

RECESSED PULL o ] HH-KL160

>
Z « Ideal for harsh and high corrosive environments.
) » Compliant with SEMI S8-0600 guideline.
E * Spacer for sheet metal application sold separately.
130
(0)) 5178
105 s E—
§Y) (4-9/64") M4 x 0.7 T
r o [1i | —
|_ \_ﬂ\/‘_/ Spacer
160
U) 103 (Optional : BSP-8)
QO Sheet metal mounting application
X 5 i’ 7 “‘7‘ | \3 i ) Hole
=z -# | s, Sre o] ¥/
O | | s ! : N @\ 5 — ==
53] AN S N S :
- - 110
m 5/[218 130
(55/64")
Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KL160 260 8 48 304 Stainless Steel Satin
Py
o ©
O RECESSED PULL o | HH-KP150
m
)]
m 132 » Compliant with SEMI $8-0600 guideline.
O (5-13/64")
113
g (4-29/64") ‘
T Y Hole ‘
; 4x0 6\ ‘ | 115 8
5 505 o on I ®
s b
%g 132
~ I (5-13/64")
< 03 Cut Out Dimensions
= 10 08985
& ¥
111.4 4-M5x0.8

& (4-25/64") (Copper plated steel)
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-KP150 390 5 50 304 Stainless Steel Satin

RECESSED PULL 2l =] HH-KPR150-SH

Cut Out Dimensi
dt Dutbimensions - Compliant with SEMI standard. (SEMI S8-0218 section 6.8)

1-1/8" (29 mm)

NS.7/ B (1 24]mm) b8 » Rounded large grip prevents injury to hand.
4-3/16" (107 mm) « Ideal for semiconductor and manufacturing equipment.
| * The bolts are designed to swing for easy installation.
€ €
g 3/16" (R4 mm) é 6" (153 mm)
; ; 4-3/16" (106 mm) _ €
3 3 3-7/8" (98 mm) £ = 1-3/8" (35.3 mm)
<A © ~ 1/8" (2.5 mm)
3/16"x01/4" (4x06 mm) 8. ©rL } g
® E @ E )
W | g 2
Easy to Hold Q& (@ S Iz &
Item No. Load Capacity Weight (g) s E g g,,,,,, o i T
HH-KPR150-SH 90.4 Ibs (41 kg) 390 2|8 E =T £
Round & o 2 <+ Y o
Large Grip! ~A P = ~j\ c
No. Part Name Material Finish 2 o enMane mm ¥
[©) Plate ] . [ ‘L® © (4xM5 mm) &
304 Stainless Steel Satin "\@
® Cup AA
Hexagon Head . : 4-1/8" (105 mm) L Cross-section
® Bolt M5x10 Stainless Steel Plain e (2] " 38" (95 mm)

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 65

RECESSED PULL © I+]  HH-AS?2

[COMPONENT %
— 100 —» =
100 ) - )
(3-15/16") 91 [
90

(3-35/64") 2M4x0.7 T i
Il E ? ¥ Y]
4 2-06 ,g
120 15 4= —
(4-22232”) ’(19/32” Cut Out Dimensions U)

(3-25/64") 2 > (1.8)
Ro
A
B T: =z
_ ,ﬂ’ifir — 88§ 1™ s O
Ll = o
‘ ) 7]

Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS2 50 12 240 304 Stainless Steel Satin
X
od O
RECESSED PULL HH-AS3 O
m
0]
9]
m
ERY Y 2-M5x0.8 19057 o
¢ 89 ) *Weld Nut Carbon Steel/Copper Flash 90— * E
* i ©
! ¥
i e 4 3§ I':
1 L 0
120 ? 207
87
,,,,,,,,,,,,,,,,,,,,,, LT T
® & = Cut Out Dimensions
iy L 39
© hat
I
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
HH-AS3 50 12 240 304 Stainless Steel Satin

RECESSED PULL g B @] Es-611

102
(4-1/64")
90 R
T
i [ 7%
i |
121
(4-49/64")
ET I wo L L o g
(Weld Studs Carbon Steel / Copper Flash) (M4 Weld Nuts Carbon Steel / Copper Flash (Weld-on) 4{7 - O = =]
* ES-611/ET: with M4 x 25 Steel screws) o8
Weld Studs Carbon Steel / Copper Flash *ES-611/T: l
M5 x 0.8 Length 10 Weld Nuts Carbon Steel / Copper Flash
M4 x 0.7 Depth 6
Item No. Weight (g) Box (pcs) Carton (pcs)
ES-611/ET 68
ES-611/T 60 20 200 Material Finish
ES-611/WO 304 Stainless Steel Satin

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



66 suéamssz
UTZ-130

RECESSED PULL

>
Z
O
[
[Tl
w
e e iy
C T8
— ] 7@
(I S
n i
UTZ-130/CR
Ro 5
130
x (5-1/8")
Z
UTZ-130/SN
8 ﬁ\iJ/HH\\ ol
- 2 ok
% T T ==
e
325 99 07.5
‘ M4 x 0.7
UTZ-130/SB ; 4_;}?6“) | Depth 8
Y — ——
m L
@) ik
m min —
% Spacer
m (Optional: BSP-8)
O Sheet metal mounting application Bore Dimensions
o
C Item No. Weight (g) Box (pcs) Carton (pcs)
|— UTZ-130/CR Material Finish/Color
[ UTZ-130/SN 105 10 60 Zinc Alloy Chrome (CR)/Satin Nickel (SN)/Satin Bronze (SB)
n UTZ-130/SB Plastic Black
M4x25
RECESSED PULL H-] sD-160
164
(6-29/64")
: P
) 138
i T
¥
(2]
112 '
SD-160/SN
©
| | |
i I i i LJI ¥ —~
! ©
SD-160/CR L | A
07.5 ‘
395 ] 134 M4 x 0.7
: 150 Depth 8
+—40.5 — (5-29/32")
- 8-~
f 150
—— j
[ I o
. T L1
gl S — o Depth 16 Y
Spacer / Y 1:‘5: 98
(Optional: BSP-8) 43
Sheet metal mounting application Bore Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish/Color
SD-160/CR 165 10 60 Zinc AI_on Chrome (CR)/Satin Nickel (SN)
SD-160/SN Plastic Black

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



RECESSED PULL

SUGHTSUNE

(3-25/32")

96

[ 1

L]

@ AT-100

* Snap-in type recessed pull for sheet
metal thickness 0.8 mm.

AT-100-B 100
, 4>t {e 22 —»f 96.3+5?
(3-15/16") osiad)
91 1.2 t
(3-37/64") i
e ) m— . I ‘ a
g N 0 ~
4 8 8o N
SR gl }
e 99 b
a8 = = Cut Out Dimensions
AT1001 | camn (Panel thickness: 0.8 mm)
<038
Item No. Weight (g) Box (pcs) Carton (pcs) Material Color
AT-100-I Ivory (1)
AT-100-BR 23 50 250 ABS Brown (BR)
AT-100-B Black (B)
RECESSED PULL © @ ar7o
[ComponenT B
65.5 .
(0-37/64") * Snap-in type recessed pull for sheet
metal thickness 0.8 mm.
I ]
I
70
AT-70-8 (e-3/4") 4 657+
61
(2-13/32") T 12 L
i S~ o
R 4
1 1 S e
S i A l I Cut Out Dimensions
AT-7040 o L (Panel thickness: 0.8 mm)
< 0.8
Item No. Weight (g) Box (pcs) Carton (pcs) Material Color
AT-70-1 Ivory (1)
AT-70-BR 12 100 550 ABS Brown (BR)
AT-70-B Black (B)
[COMPONENT

ATS-100-B

* Snap-in type recessed pull for sheet
metal thickness 0.8 mm.

100
(8-15/16")
| 93:
‘ (3-11/16") = o7.2% —
Ve
©_
: ~E
ATS-100- = Cut Out Dimensions (Panel thickness: 0.8 mm)
Item No. Weight (g) Box (pcs) Carton (pcs) Material Color
ATS-100-1 Ivory (1)
ATS-100-BR 125 100 550 ABS Brown (BR)
ATS-100-B Black (B)

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

67

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

S11Nd d3sSs3o3d



68 SUGATSUNE

RECESSED PULL

A Bl XLA-HHA

* Lightweight design.
* Bracket for sheet metal available.
Iltem No.: XLA-HHA40B (sold separately)

2 M4 Depth7 —20 |u—
¥ ] EY Depth 1545 !
i )
( (\ 4/ E P B
T
& & \ %
L t

(1-19/32")

l—40.4—l

~—30

5.1-» \ 14.5

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

ﬁﬁa 7\/90
\M 942

Item No. L A B Cc Weight (g) Box (pcs) Carton (pcs)  No. Material Finish
XLA-HHA300 300 (11-13/16") 100 50 296 140 10 100 @ Aluminum Anodized
XLA-HHA600 600 ( 23-5/8") 200 150 596 247 5 50 @ Zinc Alloy Chrome

RECESSED PULL (BACK MOUNT) ] HH-PS99

)
m
O
(r}-l) * Designed for back mount.
o * Large grip space for heavy Cabinets etc.
m * For panel thickness 15 mm. (19/32")
S AL
T I
C 2-05.2
[ % ’
— & =
0] d |z
A | e
gF ©) § & v
Y ©
< < ‘ 99 15 28
123 (3-57/64") (1-7/64")
Quy o £ A# (4-;%332“ )
995 %
‘Q\b ‘ (5-153/?6“)
Bore Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material
HH-PS99 42 50 200 Polypropylene with Glass Fiber

RECESSED PULL UP-600

00— o4 .
\ c‘q
O 1
j\} é €7 pepth:14) 8
JF | |
A
Cut out Dimensions
y
1 . ‘
= &
i
94 33
(3-45/64") (1-19/64")
Item No. Weight (g) Box Carton (pcs) Material Color
UP-600 25 50 300 ABS Black, Chrome
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 69

RECESSED PULL HH-UD

I
>
» Comfortable grip designed for both open and close directions. Z
* The HH-UD156 is compliant with SEMI standard (SEMI S8-0915). lg
[Tl
1%
+— | —> e
C
[
[
(0)]
Ro
A
Z
O
W
(0]
No. | Material Color Material
(0] Body Black Stainless Steel
@ Cup Gray ABS and PC Plastic
HH-UD120SH HH-UD156SH ® Spacer Yellow Stainless Steel I';PI
O
HH.UD120SH HH-UD156SH wn
B (9]
~ Im
<A
; + +—T t )
E S 7/8"(22.5) [} g E
2ol <@ : = ol 2 &
t - e8I R8 ) _ _ les € 13718 3 =
AL T es (29.5) & -
- (0]
~A 3/16" " + : 4 —l 7 .
- 3-1/8" (80) ~ Bt 59 | / o
~—4-1/8" (120)—— 1g/1e" ~B ot
’@ Cutaway view A-A ~-3-15/16" (100) - 1/4" (5.5)>1 1"(26)
N y -~ 6-1/8"(156) —— 1-1/4"

! | (31.5)
Door thickness L 0 0 Cutaway view B-B
- 0.5~3.2 \
3-9/16 (30) mm Door thickness
4-1/8 (105) — 0.5~3.2mm

4-5/16" (110) —~
5-1/16" (129) —»

Ol

Cut-out Dimensions KKOXG489VK
4xR5
|
& | +—
KKOXG453VK 4xR5
I | T | 2xR5
——= | ] =
n v
- 4-7/16" e
9205 ,g° (11295 — : 8
4-1/8" g .
(105):0.5 - e 4-7/16"
)+
(129)20. (112)
Item Name Finish Load Capacity kgf Weight (g) Box (pcs) |Carton (pcs)
HH-UD120SH Satin 103 20 80
HH-UD120SM Mirror 51 20 80
HH-UD156SH Satin 502 20 80
HH-UD156SM Mirror 20 80
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



70 SUGATSUNE

LARGE RECESSED PULL (WITH BAR HANDLE) HH-M

I
>
Z * Durable 304 stainless steel construction.
W) * Designed for industrial applications where use of
[ thick gloves are required.
L » Handlebar does not protrude out from the face of the
_U) handle.
T * 2 sizes available.
C
—
(I
(0)]
Ro
A
Z L2 P1 &
O s P S G
vy -2 .
-
7 73 !
T o T
L1
26.5 P i
Po——t—P2 = %f—i—y
N Ls
| W
= o v‘ @7.5
2-07 & ‘
| } I— 4
/ : \
+ [ + + A‘ No. | Part Name Material
Cg Gé @é Item No. Box (pcs) Carton (pcs) @ Bar
HH-M200 1 4 @ Cup 304 Stainless Steel
HH-M400 1 2 ® | End Cover
Item No. Ly H; H, L2 P P Ps Ls Hs
HH-M200 | 260 (10-15/64") (186.3) (7-21/64") (138.3) (5-29/64") 218 (8-37/64" )| 235 | 875 0 216 ( 8-1/2") 140 (5-33/64")
HH-M400 | 460 ( 18-7/64") (186.3) (7-21/64") (138.3) (5-29/64") 418 (16-29/64")| 435 | 125.0 416 (16-3/8")

RECESSED PULL

E! M5x20
STEEL H H P
* Made with PVC material:

- Ideal for semiconductor, manufacturing machinery
and transparent applications.
- Weather proof, chemical resistant.
« Large opening allows for easy accessibility with
gloved hands.
» Environmentally friendly-Lead free.
* Compliant with SEMI S8-0308 guideline.

ST11Nd dISS3A03d / ST11Nd dISSIADIH 94V’

2-d X17
L t—-t28—— P
L: 17 Ik

[

i

Handle Holding Fixture

[l B2 —fu—
B
\
e B1—»
T

Large opening makes it easier
to use with gloves

104 110

—— %jgﬁ i

Py
=
=
’l—lﬂ 1
48
Py

! J
2

Item No. L L, | L, | B | B |B,| H P d t | Door Thickness (mm) © o
HH-P118 | 118 | 93 | 90 | 58 | 47 |25.5|21.5|104| M4 | 4 Al=flil : HH"_:MB € HH-P130
HH-P130 |130| 98 | 92 | 86 | 69 [43.5(28.0|110 | M5 | 5 1~11 Cut out Dimensions

Item No. Weight (g) Box (pcs) Carton (pcs)

HH-P118 43 45 450 Material Color

HH-P130 100 30 300 Polyvinyl Chloride (PVC ) Clear

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 7

sig] ZL-2501

STEEL

Zweil Recessed Pull

I
>
« Ideal for sliding doors. Z
« Supplied with stainless steel wood screws (3.1 x 16). O
—
L
w
Y]
Min H4 ,g
-
(0p)
i Ro
A
=z
- [aV] [s2} O
Qo a w
Q@ 8 s Q N
@4.6,07 n2x@2.5
— 8 — N
l=(5/16") E
o,
H1|| H2 r
Py
O
Installati . )
netallation Cross-section  (A-A') View m
Item No. D2| P |[D1|H2|H1| H3 | D3 [H4 | nl1 | n2 | Weight (g) |Box (pcs) 2
ZL-2501-56 | 32 | 47| 56| 14 |3.2]|16.0| 40 | 15 | 2 | 4 93 1 No. Part Name Material Finish/Color %
ZL-2501-80 |50 | 70| 80| 14 [4.0[16.5| 62 | 15| 4 | 2 196 1 ® Pull 316 Stainless Steel Zwei L (@)
Z1-2501-125 | 80 112 [125| 16 [5.0|20.0|100| 17 | 4 | 4 610 1 ® Mounting Bracket 316 Stainless Steel Plain T
C
—
—
(0p)

RECESSED PULL RP

« Ideal for sliding doors.
« Affix with glue or tack.

\/

oD
B

Item No. L H h D Weight (g) Box (pcs) Carton (pcs)

RP-30 30 ( 1-3/16" ) 7.5(19/64") | 27.5 4.0 3600

RP-37 36 ( 1-27/64" ) 8.5( 21/64" ) 31.5 6.0 100

RP-45 46 ( 1-13/16" ) 0.5 ) 41.0 9.5 2400

RP-60 60 ( 2-23/64" ) 9.5( 358" ) B35 15.0 50 1200 Material Finish

RP-80 80 ( 3-5/32" ) ’ 71.0 255! 25 500 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



72 SUGATSUNE

RECESSED PULL Y E RN

« Ideal for sliding doors.
« Affix with glue or tack.

g2

20
< (Bz2) =|

0.8 H

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pa
©)
W
%)

’9\
L T{ —_ Depinf: % &
L2

)

[T

O Bore Dimensions

m : _

wn Material Finish

wn 304 Stainless Steel Satin

rn n

O Item No. L L H B B: B: L Bs gy || R ) He ) CaE
T @ | (pcs) | (pes)
C HN-120SH | 120 (4-23/32") | 100 | 10.0(25/64") |30 ( 1-3/16" ) | 20 ( 25/32" ) | 18.5 |100.5 (3-61/64") | 20.5 ( 13/16") | 10.5 19 50 500

i HN-150SH | 150 ( 5-29/32") | 130 |12.0(15/32") |35 ( 1-3/8" ) |26 ( 1-1/32") | 24.5 |130.5 (5-9/64" ) | 26.5 (1-3/64") | 12.5 27 20 200

- HN-200SH [200 ( 7-7/8" ) [ 170 B ] . ] . 170.5 (6-23/32") . 50

v HN-250SH | 250 (9-27/32") | 220 13.2(33/64") |50 (1-31/32") | 36 (1-27/64") | 34.5 oo (8-11/16") 365 (1-7/16") |13.7 —o5 10 100

OP-150

« Ideal for sliding doors.
« Affix with glue or tack.

RECESSED PULL

150 0.5 9.5 (3/8")
(5-29/32") !
'S 0
— — — _ _ o= el
i Tg N2
- |
}
02
144
(5-43/64")
Installation
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
OP-150 30 30 720 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 7

RECESSED FINGER PULL 3511, 3512 SERIES

I
>
* Ideal for sliding doors. Z
« Affix with glue or tack. )
—
[T
w
T
2 11 C
(7/16") o
3511038/SN 3511400/CR 235 -
g ] %
<
i
:l l -~
] Z
O
3511 SERIES Bore Dimensions o
0]
3512038/SN 3512400/CR 2 1
(7116")
226
~T

T r
823 Il | g Py
Q 5‘2 g Q m
I ' (@)
m
3512 SERIES Bore Dimensions wn
()]
m
- O
Item No. Weight (g) Box (pcs) Carton (pcs) o
3511038/SN 271 C
3511400/CR ' 25 250 -
3512038/SN 172 Material Finish -
3512400/CR ’ Zinc Alloy Satin Nickel (SN)/Chrome (CR) w

RECESSED PULL 3922 SERIES

« Ideal for sliding doors.
« Affix with glue or tack.

3922038/SN
68.5
(2-45/64")
3922400/CR
110
(4-21/64")
65 2.5 11
(716")
f 1 T .
0 o
k - : - 28 $§ 69
i l < (2-23/32") 4 R
)
—+ L° ,Q_
& -
Bore Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs)
3922038/SN Material Finish
_ 70.9 25 250
3922400/CR Zinc Alloy Satin Nickel (SN)/Chrome (CR)
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



74 SUGATSUNE

TRUNK HANDLE sie| I 1] F=2] HCT-150

STEEL P.696

>
Z * 316 Stainless steel handle is ideal for harsh and highly corrosive
O environments.
— * The handle is recessed into the mounting plate keeping it flush with the
[T mounting surface.
_U) * Spring loaded: Folds and returns to flat position to stay out of the way
when not in use.

B * 90 degree stop feature.
,E * Back mounted. Includes bracket for sheet metal applications.
—
(0)] T ‘
o L]
2 L
Z P —— ‘
8 146
wn 150 (5-29/32")— ‘ﬁj ]~ Cut Out Dimensions

[~ 127 (8") —= 1]l 0o99g

: 10 ‘ eS8 Screw Bracket
f il } l -
7: 8 o2
= l Bracket ~
P l Thickness 0.5~3.2mm
C 4-M5 Depth12
% Part Name Material Finish
Body . .
T Handle 316 Stainless Steel Mirror
jZ> Bumper Ethylene Propylene Black
Sprin -

O pring 316 Stainless Steel -
|— Bracket Plain
Im - — . s s
wn Item No. Material Finish Load Capacity (kg) Load Capacity (Ibs) Weight (g) Box (pcs) Carton (pcs)

HCT-150 316 Stainless Steel Mirror 100 220 990 5 20

TRUNK HANDLE H-] MUD-140

« The handle is recessed into the mounting plate keeping it flush with the
mounting surface.
« Spring loaded:
Folds and returns to flat position to stay out of the way when not in use.
* 90 degree stop feature.
* Rubber pad on handle provides an easy and comfortable grip.
« Back mounted. Includes bracket for sheet metal applications.

135 Screw
(5-5/16")
‘ = | ﬂ Bracket ‘
= i I l e ﬁ e —
/) = o
‘ ‘ s Installation
E Cut Out Dimensions
M5 x 0.8
Depth 10 (4-59/64") b
A O ® ,

| @ No. Part Name Material Finish/Color

t

SO ® Body )
) Handle Zinc Alloy Chrome
® Grip Synthetic Rubber Black

A-A cross section @ Back Case Steel
® Shaft Zinc Alloy
® Spring Yellow Zinc Chromate
Item No. Load Capacity (kg) Weight (g) | Box (pcs) | Carton (pcs) @ Screw Steel
MUD-140 30 (66 Ibs) 620 5 20 Bracket

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



TRUNK HANDLE

SUGHTSUNE

TMU-115

* Spring loaded trunk handle.
* Designed for both surface and back mount.

* Durable construction.
* Rubber pad on handle

for good grip.

=
‘ 85
M5 x 0.8 -11/32"
@)\ 115 951.0102 15~ Depxth 8 S
(4-17/32")
! 1
T o
5 [y
e L
— = A 89 4
| b gg g VoI hat
e |2 8% |
o |
|
JOR0RS §
No. Part Name Material Finish
@ Body )
2 Handle Zinc Alloy Chrome
® Grip
@ Case Cover 1 Synthetic Rubber Black
® Case Cover 2
® Back Case
@ Shaft .
Item No. Load Capacity (kg) Weight (g) Box (pcs) | Carton (pcs) Spring Steel Yellow zinc Chromate
TMU-115 40 (80 Ibs) 460 10 40 ® Screw
* Spring loaded trunk handle.
* Designed to be back mounted on sheet
metal.
119
(4-11716")
} 04.4, 012
i Depth 0.5
148
(5-53/64")
132
103 5=
92 2
A
S @
1 l5ls
Rg 83 8
J l 4|2 ¢
1D < ® <+ &
wTA % 17 A-A cross section 119
11 (4-11/16")
(4-21/64") (4-23/32")
No. Part Name Material Finish
View from B S View from C [©) BOdy
® Hand| Zinc All Grey
Cut Out Dimensions Cut Out Dimensions ande inc Alloy -
for back mount for surface mount ® Shaft Plain
@ Spring .
® Back Case Steel Yellow Zinc Chromate
Item No. Load Capacity (kg) Weight (g) Box (pcs) | Carton (pcs) ® Bumper Synthetic Rubber Clear
PT-148 50 (110 Ibs) 645 10 100 @ Screw Steel Chromate

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

75

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

S3TANVH MNNdL



76

SUGATSUNE

EDGE PULL SN

31x20
STAINLESS )

T
>
% o 05507 Available in 3 finishes.
— cz—-r— Co—>—Ce = Please specify finish
[ Py Y Yy 4.‘ - ! f~ when ordering.
m sl
- | <
jv) | ' ,
'g SN-150/M | I* .H‘ Material Finish
L 2.5 B
I ’ . Mirror (M)
- SN-95/BL Sns0s 304 gttsgless Satin (S)
Ro Black (BL)
é Item No. L C1 C2 H Holes | Weight (g) | Box (pcs) |Carton (pcs)
e SN-50/M* SN-50/S* SN-50/BL 50 (1-31/32") | 30(1-3/16") | - a7 40 400
w SN-70/M* SN-70/S* SN-70/BL 70( 2-3/4" ) | 46 (1-13/16") | - 2 65 30 300
wn SN-95/M* SN-95/S* SN-95/BL 95 (1 3-47/64") 65 (2-9/16") - 90 20 200
SN-120/M* SN-120/S* - 120 (4-23/32") 90 (3-35/64") 45 18 (11/16") 3 112
SN-150/M* SN-150/S* - 150 (5-29/32") 114 (4-31/64") 57 147 15 150
SN-200/M SN-200/S - 200 ( 7-7/8" ) 112 (4-13/32") 56 4 200 60
SN-300/M SN-300/S - 300 (11-13/16") 180 ( 7-3/32") 90 300 10 40
I.n * NSF Component
W)
@ EDGE PULL SNB
o
C . ©3.5mm, o7 mm
= ' Made of durable brass
— available in 3 finishes
©|E ?
|E
@ © P
£
3
SNB-95PB SNB-70SB SNB-50AB e l ©
_—90° (\'R
< e
N — — Kz _ — ==721 F*
e H Tes
® ‘
L
Item No. L P Weight (g) | Box (pcs) | Carton (pcs) Material Finish
SNB-50/PB | SNB-50/SB SNB-50/AB 50 (1-31/32") 30 (1-3/16") 47 - - “é"[i‘;’ (gBB)
SNB-70/PB SNB-70/SB SNB-70/AB 70 ( 2-3/4" ) 46 (1-13/16") 65 - - Brassl| Ant:que(Bra)ss
SNB-95/PB SNB-95/SB SNB-95/AB 95 (3-47/64") 65 (2-9/16") 90 - - (AB)
EDGE PULL o B s\D
[COMPONERT STAINLESS
. 03.7,07.5
47(:24"7(:24’
'
o
® o &5 l g
©
25
J &
SND-120/M ‘ 1
| ' H
SND-5OM L 25 Material Finish
) 304 Stainless Steel Mirror
Item No. L Ch C2 H Weight (g) Box (pcs) Carton (pcs)
SND-50/M* 50 ( 1-31/32") 30 ( 1-3/16" ) - . 67
SND-70/M* 70 ( 2-3/4" ) 46 ( 1-13/16" ) 5 T (2Rl 95 10 200
SND-95/M* 95 ( 3-47/64") 65 ( 2-9/16" ) - 18 ( 45/64") 130 100
SND-120/M 120 ( 4-23/32") 90 ( 3-35/64" ) 45 19( 34" ) 166 5 50
SND-150/M 150 ( 5-29/32") | 114 ( 4-31/64" ) | 57 208

* NSF Component

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 76.1

EDGE PULL A8 DSI-350

T
>
P
O
I
m
> o > > ¢ o
T
c c C
L L '_
-
(0p)
_ 40 (1-9/16") QO
Item No. © L Weight (g) Box (pcs) Carton (pcs)
DSI-350-16 16 ( 58" ) 32 ( 1-1/4" ) 22 & A
DSI-350-64 64 ( 2-1/2" ) 96 (3-25/32") 66 . e (130169 %
DSI-350-96 96 (3-25/32") | 128 ( 5-1/16" ) 88
DSI-350-128 | 128 (5-1/16" ) | 160 ( 6-5/16" ) 110 W
DSI-350-160 | 160 ( 6-5/16" ) | 192 ( 7-9/16" ) 132 15 w
DSI-350-192 | 192 ( 7-9/16" ) | 224 (8-13/16") 154
DSI-350-224 | 224 (8-13/16") | 256 (10-1/16") 176 10 100
DSI-350-256 | 256 (10-1/16") | 352 ( 13-7/8" ) 240 Material Finish
DSI-350-352 | 352 (13-7/8" ) | 544 (21-7/16") 374 304 Stainless Steel Satin

EDGE PULL a8 DSI-360

STAINLESS

¢ Back mounted cabinet pull.
¢ Rounded front pull, available in various lengths.

S11Nd 39d4

For Models: For Models:

16,64,96,128 160, 192 40
PG
Sl 15 ”
| = =]
Item No. L C Weight (g) | Box (pcs) | Carton (pcs)
DSI-360-16 1-1/4" (32) 5/8" (16) 24 200
DSI-360-64 3-3/4" (96) 2-1/2" (64) 68 25 150
DSI-360-96 5-1/16" (128) 3-3/4" (96) 90 100
DSI-360-128 6-5/16" (160) 5-1/16" (128) 120 10 60 Material Finish
DSI-360-160 | 7-9/16" (192) | 6-5/16" (160) 144 - a5 atenia nis
DSI-360-192 | 8-13/16" (224) | 7-9/16" (192) 156 304 Stainless Steel Satin

EDGE PULL DSI-370

e Back mounted cabinet pull.
¢ Rectangle front pull, available in various lengths.

For Models: For Models:
16,64,96,128 160, 192 ’,L
o ﬂ
O O ©) O o} ] ][ 1.5 il
il i B el
Item No. L (0] Weight (9) | Box (pcs) | Carton (pcs)
DSI-370-16 1-1/4" (32) 5/8" (16) 24 200
DSI-370-64 3-3/4" (96) 2-1/2" (64) 68 25 150
DSI-370-96 5-1/16" (128) 3-3/4" (96) 90 100
DSI-370-128 6-5/16" (160) 5-1/16" (128) 120 10 60 Material Finish
DSI-370-160 | 7-9/16" (192) | 6-5/16" (160) 144 - . ateria nis
DSI-370-192 | 8-13/16" (224) 7-9/16" (192) 156 304 Stainless Steel Satin
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



762 SUGATSUNE

EDGE PULL DSI-380

e Small pull for cabinet doors.
¢ Rounded front pull, can be used side by side.

48

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pa
©)
W
%)

L.C |

L
m
O
)
T
T Item No. L C Weight (g) Box (pcs) Carton (pcs) Material Finish
C DSI-380-16 1-1/4" (32) 5/8" (16) 39 25 200 304 Stainless Steel Satin
—
-
(0]
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 71

EDGE PULL

T
>
Z
)
I
L
w
o
C
I
I
(0)]
Ro
A
Z
O
vy}
Installation wn
Item No L H P P1 B Holes Box (pcs) | Carton (pcs)
AG-A405 46 18 29 7 30 2 120 480 Material Finish

AG-A402 90 73 8 70 280 Brass Satin Nickel
m
3.1x16 C 8
EDGE PULL Ho] cN 9
o
L C
| | B
Il | I_
f 1 U’)
~~
P
P 4-03.2 = ®
L4 17 |'|'|
¥ [ Py
& 1 - T
of = c
: @ @f— - E
@ —
0]

Installation
Item No L Ly H P P1 P B Box (pcs) Carton (pcs)
CN-A362 106 76 36 93 28 8 22 28 280 Material Finish
CN-A360 137 107 36 123 28 8 22 16 64 Brass Satin Nickel

FINGER PULL H--] DR

Co))
N

o
Mirror Satin 4’
M4 x 0.7

Depth S
Material Finish
304 Stainless Steel '\Q;I(;: ((g;)
Item No. L C H t D S Weight (g) Box (pcs) Carton (pcs)
DR-S/M DR-S/S | 24.5( 31/32" )| 18(45/64") |25.0 ( 63/64" )| 5.5 16.5 5 10 80 800
DR-L/M DR-L/S 30.5(1-13/64") | 21(53/64") |31.5 (1-15/64") 6.5 20.5 6 22 50 500
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



78 SUGATSUNE

ROUND EDGE PULL sis| H=] RD

STEEL

I
>
Z
O
[
[Tl
%
o
C
[
[
(0)]
Ro
A c d
< |
©) |
0 U
o |
‘ I
m L
®)
C
Z
O
T
)
@
T
o Item No. L © H B d Weight (g) | Box (pcs) | Carton (pcs)
(e RD-55/SM | 55 (2-11/64") | 42 (1-21/32") | 23.0 (29/32") 9.5 M4 x 0.7 50 30 360 Material Finish
P RD-90/SM | 90 (3-35/64") | 74 (2-29/32") | 25.5 (1-1/64") | 10.5 M4 x 0.7 80 20 240 316 Stainless Steel | Mirror
)]

ROUND EDGE PULL A8 RD

CR SMK
c d
|
SN SB ‘ U
‘ I
I
L
Please specify the finish when ordering.
Material Finish
Smoke (SMK), Satin Nickel (SN)
Zinc Alloy Polished Chrome (CR)
Satin Brass (SB)

Item No. L © H B d Weight (g) Box (pcs) Carton (pcs) Screw
RD-45 45 (1-25/35") | 32 (1-17/64") 19.0( 3/4" ) 8.0 M3 x 0.5 22 40 480 M3 x 25
RD-55 55 ( 2-5/35 ") 42 ( 1-21/32") 23.0(29/32 ") 9.5 M4 x 0.7 35 30 360 M4 x 28
RD-90 90 (3-35/64") | 74 (2-29/32") 25.5(1-1/64") 10.5 63 20 240

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



PULL

SUGHTSUNE

®

NO SCREW

AOT35

P (10)

11

] ——
N-M4 Depth8 / 5 m

(1-3/8")

Item No. L P Weight (g) Box (pcs) Carton (pcs)
AOT35-180 180 ( 7-3/32") 50 129 100 1000
AOT35-340 340 ( 13-3/8") (6-5/16") 243 50 500 Material Finish
AOT35-500 500 (19-11/16") 358 30 300 Aluminum Alumite
FOLDING RING PULL 3261, 3262 SERIES
« 4.75
t
©
04.8,02.8
71
(2-51/64")
3261500/SN 02.6,04.8
36
(1-27/64")
27
(1-1/16")
I I f
il L e
3262200/SN 5 as L
il . ~
©, [
S
3262200/SN
Item No. Weight (g) Box (pcs) Carton (pcs)
3261500/SN 49.3 25 250 Material Finish
3262200/SN 26.0 600 Zinc Alloy Satin Nickel

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

79

I
>
pa
)
=
m
2
-
C
S
=
n
Ro
=
pa
©)
W
%)

ST11Nd 9NId ONIAT104 / ST1Nd



80

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

ST11Nd SNId ONIA104

SUGATSUNE

STAINLESS
FOLDING RING PULL sis| (€0 26700
76.5
3"
25.7 =
F63/64") 2.9 =71
|
@ 1 @3 T I - (2»85’16“)
™ ;‘; ~ 5 I *7 ; \‘ A
R * S -
NI Bore depth: 7 o8
& | Q l 1) 5 \ ‘ '9{?)/ Ig
| I
P 04.9,08 = | hd
Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26700 120 20 100 316 Stainless Steel Polished
FOLDING RING PULL 26900
38
(1-1/2")
285 —> b 27 > 9
r(1—1/8”)
{ (191/22)
@ © 1 &
J \ — .
3 E =
O T @ : >
} W Bore depth: 10
04.3, 08 Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26900 45 20 100 316 Stainless Steel Polished
FOLDING RING PULL 26901
44
(1-47/64")
31— 319
W7/32")
Il =1
T
- o[ T]e
0 %ro 0 Ecv\; N
25 82
SR — & °
a 4 &
< Bore depth: 10
04.5, 08 Cut Out Dimensions
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
26901 85 20 100 316 Stainless Steel Polished

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)




SUGHTSUNE 81

FOLDING RING PULL (SPRING LOADED) 980643

0 Y
o s

I
>
* The pull is recessed into the mounting Z
plate keeping it flush with the mounting O
surface. [
o | » Low profile design. L
- % * Spring loaded-snaps flat to stay out of the _U)

= 35 way when not in use.
I @I, « Ideal for vibration or shock applications. E
—
—
60 4-04.07 o
(2-23/64") 4-04.07 Qo

75
(2-61/64") é
‘ ‘ O
™
Ei@ - vy,
- 0p
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
980643 51 10 200 304 Stainless Steel Polished

FOLDING RING PULL (SPRING LOADED)

Y

STAINLESS

* The pull is recessed into the mounting
plate keeping it flush with the mounting

surface.
* Low profile design.

« Spring loaded-snaps flat to stay out of the

way when not in use.

« Ideal for vibration or shock applications.

48 980641, 980642

©8.2, Depth3
L
980642 980641 2
2
Depth10
Material Finish
304 Stainless Steel Polished
Item No. L1 L2 Ls H: H2 Hs R: oR2 P: P2 d1 d2 Weight(g) | Box (pcs) | Carton (pcs)
980641 38 18 24.5 44 19 195 | 14.2 31 28 (1-7/64") | 34 (1-11/32") | 3.6 6.2 21 10 500
980642 50 27 25.0 60 25 25.0 | 195 41 35(1-3/8") | 45 (1-25/32") | 4.0 7.0 36 200

FOLDING RING PULL (SPRING LOADED)

50 —»

0 Y
o s

-
©)
[
)
Z
®
Y
Z
®
T
C
[
-
)

®
4
Y
Z
®
—
@)
>
o
m

=

980640

* The pull is recessed into the mounting
plate keeping it flush with the mounting

surface.
* Low profile design.

« Spring loaded-snaps flat to stay out of the

10
(1-31/32") 1:¢ way when not in use.
« Ideal for vibration or shock applications.
o -
(aV) I
40 i
38 3-04,07
(1-1/2")
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
980640 23 10 300 304 Stainless Steel Polished

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



82 SUGATSUNE

HATCH PULL (5P '  ST-90, 115

STAINLESS
[COMPONENT] -

I
>
Z * Hold-in detent for undermount applications.
O
[
[Tl
w
o
C
[
[
wn TOP
J
QO e B —» <—H<4>H<—HH—>
| |e—s| Hz
2 s :
O |
7 ap A
? T N s g 4
S 05 3 L 3 b= &
2=t = ;
] Y ¥
I Nt
>
— ) & 1
9 04.5,07.5
U
C Iltem No. L L1 L2 Ls H Hi Hz JJ B B: t ©
e ST-90 90 (3-35/64") | 66.2 | 30.2 | 57 |35.5 |23.2 |105 | 2.2 |22(55/64")| 18,5 | 3.8 | 80 (3-5/32") Material Finish
(IT) ST-115 115 (4-17/32") | 86.2 | 40.0 | 67 | 42.0 | 26.0 | 13.0 | 2.5 |25(63/64")| 20.0 | 4.0 | 102 (4-1/64") 304 Stainless Steel Satin
Item No. Weight (g) Box (pcs) Carton (pcs) Screw
ST- 90 68 30 300 3.5 x 22
ST-115 102 20 200 3.5x25

HATCH PULL (sF) i@ ST-80, 100

STAINLESS
ranisss)

TOP

@
\

\_/H
)

\x
\\b ) |
7
& aiis
04.5,07.5
I ¥
\ |
! ]
Item No. L L1 L2 H Hi H2 B B1 t ©
ST-80 80 ( 3-9/64" ) 50 44 18 25 2 18 (45/64") 15 5 68 (2-43/64") Material Finish
ST-100 100 ( 3-15/16") 63 54 21 32 20 (25/32") 85 (3-11/32") 304 Stainless Steel Satin
Item No. Weight (g) Box (pcs) Carton (pcs) Screw
ST-80 48 30 300 3.5x 16
ST-100 66 20 200 3.5x20
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



HATCH PULL

SUGHTSUNE

] 2 |

P.696

@ HR

STAINLESS

83

I
>
Z
)
[
L
w
—E —»
‘ U
C
& —
TR —
(0)]
Ro
L L1 -~
Z
O
o vy
) n
N\
>
et
O
Item No. L L1 © H D A B F G T
HR-90 90 (3-35/64") | 52( 2-3/64" ) | 76 32 36 .
HR-110 | 110 (4-21/64") | 64(2-33/64") | 94 38 42 1.0 24 (151167 | 12,0 1 Material Finish g
HR-135 |135 ( 5-5/16") | 90(3-35/64") | 115 50 55 1.2 25 (63/64") | 12.2 12 304 Stainless Steel Satin —
—
Item No. Load Capacity (kg) Weight (g) Box (pcs) Carton (pcs) Screw wn
HR-90 13 (281Ibs) 49 30 300 3.5 x22
HR-110 10 (221bs) 59 20 200 3.5 x 25
HR-135 - 88 15 150
’ TEST 35x22 _
HATCH PULL 2| M| HR-R
Material Finish
304 Stainless Steel Satin
Item No. L1 L2 © H D Load Capacity (kg) Weight (g) Box (pcs) Carton (pcs)
HR-90R 90 (3-35/64") 52 76 (2-63/64") 32 36 13 ( 281Ibs ) 46 30 300
HR-110R (110 (4-21/64") 64 94 (3-45/64") 38 42 10 ( 221bs ) 55 20 200

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



84

SUGATSUNE

LEVER PULL FH-100AK, FH-100BK

>
Z * FH-100AK-00 has detent to hold lever open or closed.
O « FH-100BK-00 has spring to return lever to the closed position.
[ * Both models have rubber bumper inside to reduce noise when closing.
m * Includes 1/2" long screws (M3 x 12).
o
C
[
[ 22 ®
wn (7/8") *
t ~
Ro Open Closed °8 0
x } 2-M3x0.5 ' g;
o Depth6 = &
5 : Bsint
g ; M 2x0@3.5
& o |T N~ 0 o 3 T o ©
- a8 8b 33 S sz jd2 88
e s e .. Ep %iglg}
[e2}
|-'|_-| 8 35 225 45
< % - —>+31.5(1-15/64")
m
A P +-18
U - +-19
C L 25
— (63/64")
—
0]
Item No. Weight (g) Box (pcs) Carton (pcs) Part Material Finish
FH-100AK-00 Case Polished Nickel
—_—— 100 12 72 ———— ZincAll —
FH-100BK-00 Handle IS G20 Satin Nickel

Y

LEVER PULL FH-100AM, FH-100BM

* FH-100AM-00 has detent to hold lever open or closed.

* FH-100BM-00 has spring to return lever to the closed position.

» Both models have rubber bumper inside to reduce noise when closing.
* Includes 1/2" long screws (M3 x 12).

22

* = a— 22+
ROQ i
Open Closed '{9 2MBX05 1 5‘9%
0 Depth6 : 3 = 2-M3x0.5
- J’ Depth6é
IR )
3 |3 ‘E’s v/ 813 =
_ oor © S8 50 & I3 31 o3
& 2-93.3 D @ S5 5355 4 339 g¢
¢ 0g e |o ey |.. lé o g
O — 3 @
— L)% o 8
d H 2-035
A —
? N NS
S Q ~ |~ 18 18
(&) <t \%‘ﬁ ! iN— T © 19
& $ =B i ¥ ,S_G 19 25 (63/64")
Y = Gl Y l iy 25 (63/64")
29 16 257 743 115064 FH-100AM-00 FH-100BM-00
Item No. Weight (g) Box (pcs) Carton (pcs) Part Material Finish
FH-100AM-00 Case Polished Nickel
—_— 103.5 12 72 ———— ZincAllo
FH-100BM-00 Handle Y " satin Nickel

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 85

Zweil. Knob ate| ZL-1906

STEEL

I
>
* For use with wood or tempered glass. Z
* Non-handed. O
« Anti-rotation pin is removable. [
* Includes stainless steel screws. L
w
o
C
[
[
(0)]
Ro
A
Z
O
H (2.5) ‘ M4 depth15 w
1 0]
sin
od o5 ‘
22 < S | x
.
—
Glass Thickness: Wood Panel x
4or5mm,d=5 Z
6mm,d=6 O
_ — _ w
Item No. Material Finish/Color H D D. P Weight (g) Box (pcs) wn
ZL-1906-20 20 (25/32") 20 (25/32") 16.0 5 32
ZL-1906-28 316 Stainless Steel Zwei L 26 (1-1/32") 28 (1-3/32") 22.5 8 83 1
ZL-1906-36 32 (1-1/4") 36 (1-13/32") 28.0 10 165
- STAINLESS
316 -
2weil. Knob si6| ZL.-1909
* For use with wood or tempered glass.
* Non-handed.
« Anti-rotation pin is removable.
* Includes stainless steel screws.
2xM4, Depth15
24
(15/16")
|
T T
! ‘ ; 1 } ! ‘ } T T ol
]| 8 o2
5 1 | ~ WB
Gt [T
Glass ™ oL Wood Panel
1% =
©
o 24 < 24
B (15/16") (15/16")
25
4.5.6 Glass Thickness:
4or5mm,d=5
6mm,d=6
Item No. Material Finish/Color Weight (g) Box (pcs)
ZL-1909 316 Stainless Steel Zwei L 97 1
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



86

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

SAONM 1 1amz

SUGATSUNE

Zweil Knob 3is| ZL-1901
« Anti-rotation pin is removable.

* Includes 1" long

stainless steel screw (M4 x 25).

32 (2.5)
(1-1/4")
‘ P
l S ;&é\
N
‘ M4x0.7, depth8
Item No. Material Finish/Color Weight (g) Box (pcs)
ZL-1901 316 Stainless Steel Zwei L 34 8
- ’ STAINLESS
Zweil. Knob ste| /| -1902
| | STEEL
 Anti-rotation pin is removable.
¢ Includes 1" long stainless steel screw (M4 x 25).
16—
36 (2.5) (578"
(1-13/32") 5
y—~
N &5 S o2
M4x0.7 =Y 4 )
/ g S— depth 8 & i
I\EE
\_ i
((51/3)"4 = \o1.5

)

M4 depth 8 /|———

N

Item No. Material Finish/Color Weight (g) Box (pcs)
ZL-1902 316 Stainless Steel Zwei L 52 8
- STAINLESS
2weil Knob si6| ZL-1903
TEEL
¢ Includes 1" long stainless steel screw (M4 x 25).
fe—16 —= 32
(5/8") (1-1/4") 2xM4,depth 8
_ 8
by 83
Item No. Material Finish/Color Weight (g) Box (pcs)
ZL-1903 316 Stainless Steel Zwei L 58 8

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 87

ate| ZL-1904

STEEL

Zweil. Knob

I

>

* Anti-rotation pin is removable. Z

* Includes 1" long stainless steel screw (M4 x 25). Ig

[Tl

1%

10 28 M4 x 0.7 U

(25/64") (1-3/32") Depth 8 C

—

} - r

© (0)]

Ro

Item No. Material Finish/Color | Weight (g) Box (pcs) A
ZL-1904 316 Stainless Steel Zwei L 12 8 P
O

W

(0]

ZweiL. Knob 3 ZL-1905

STEEL

* Anti-rotation pin is removable.
¢ Includes 1" long stainless steel screw (M4 x 25).

=
D
sl —
35 (I
i A
\ 7 ©)
M4x0.7 01.5 luy)
Depth8 (n
Item No. Material Finish/Color | Weight (g) Box (pcs) L/
ZL-1905 316 Stainless Steel Zwei L 15 8

Zweil. Knob Base st6|] ZL-2302

STEEL

Plate/Screw Set for Knob (216)

Item No. Part Name Material Finish/Color |Box (Set)
Screw (M4 x 16) Stainless Steel Zwei L
ZL.-2302-1916 Base Plate (16) |316 Stainless Steel Zwei L 1
Gasket (14) Elastomer Plain
Plate/Screw Set for Knob (225) *2 gaskets included.
Item No. Part Name Material Finish/Color | Box (Set)
Screw (M4 x 16) Stainless Steel Zwei L
Base Plate (016 [Base Plae (025] i i
ase Plate (016) Base Plate (025) 71-2302-1925 Base Plate (¢16) |316 Stainless Steel Zwe-| L q
- Satin Finish - Satin Finish Gasket (214) Elastomer Plain
Gasket (220) Elastomer Plain
(18"
Screw M4x16
Gasket
/\ =010~ (25/64")
i --— Satin Finish Ln_E’\.\
I aNQ
T L 3
6(5) — =
(15/64") ® 59%
l— 20 (14) —! M4 i =~
(25/32"(, 9/)16") J" i i
|=|—‘_‘—|=|:i1(1/32”) §
t 8
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



88

SUGATSUNE

- STAINLESS
ZweiLl Knob sis| ZL-1907
T L8
>
Z * For use with wood or tempered glass.
O * Similar style to ZL-1504 door pulls.
E ¢ Includes stainless steel screws.
9] Zrwil
o | |
C S
—
0 85 S [eéter] (e8]
(25/32") (15/16")
= 1 2x@od 2x05
) e A ::co
% C J :E AN /
> ‘ Glass Thickness:
w 2xM4 depth12 4 :'SSS m,:ﬁé‘isg
U) X mm,d=
Item No. Material Finish/Color Weight (g) Box (pcs) Carton (pcs)
ZL-1907 316 Stainless Steel Zwei L 78 2 20
N
('% - , STAINLESS
e  2weiL Knob e [316| ZL-2503
—
A
=z « Similar style to ZL-1505 door pulls.
O « Includes stainless steel screws.
o f (
2 (- ) e
- \ )
s N : N =
> L } 10 (3/8")
(72 L@%T
—
o L [ N
m A ‘ 2xM5 depth12
> b I
O
A
)
; Item No. Material Finish/Color L 2 A Weight (g) Box (pcs) Carton (pcs)
wn Z1.-2503-96 . . 121 (4-3/4") 96 (3-25/32") | 84 (3-5/16") 320 4 40
n ZL2503-160 | 10 Stainless Steel Zwei L 185 (7-9/32") |160 (6-5/16") |148 (5-53/64") 296 2 20
)
O
o BACK TO BACK GLASS DOOR KNOB DSI-126D
A
Z * For glass thickness 8-12 mm (5/16"-1/2").
8 * For use with tempered glass.
n i

35 (1-3/8") I

Item No. Material Glass Thickness (mm) Finish Box (set)

DSI-126D 304 Stainless Steel 8~12 Stain 1

1-800-562-5267

(U.S.A. Only)

www.sugatsune.com



SUGHTSUNE 89

BACK TO BACK GLASS DOOR KNOB L8 GT-40CR

>
« Sold as a set. Each set includes: Z
2 knobs, 2 washers and screw. O
m
8, 10
M wn
o
DA o =
R || LI ff —
ae i i e ! (0p)
83 o | 8% i 2o
] l Cut out dimension
\ A
1. O/ Z
O
e o
Item No. Material Finish Glass Tickness (mm) Weight (g) Box (sets) Carton (sets)
GT-40CR Brass Chrome 8~10 215 6 48

GLASS DOOR KNOB DG-BT

« Sold as a set. Each set includes:
knob, backplate, washers and tube.

9,10, 12

0.5 L

a ] [a)
Chrome (CR) Satin Chrome (SC) Li' \M
3.5 0.5

Cut out dimension

Item No. D D1 L Material Brass Finish Glass Thickness (mm) Weight (g) Box (set)
DG-BT30-CR 32 Chrome
DG-BT30-SC sy | B | 268 Bracs Satin Chrome 612 134 L
DG-BT40-CR 40 26.0 345 Chrome 235
DG-BT40-SC (1-9/16") . ’ Satin Chrome

BACK TO BACK GLASS DOOR KNOB DG-BT2

« Sold as a set. Each set includes:
2 knobs, 2 washers and tube.

< Base plate included with model
DG-BT2/23 only.

8~12
0.5
L 3
TFT 7T/H

2!

w
>
@)
A
_|
@)
w
>
@)
A
@
.
>
wn
wn
O
@)
@)
Py
A
=z
®)
99
wn
®
-
>
)]
wn
)
®)
®)
Py
A
=z
©)
99
wn

D
o
[
i

'L

Chrome (CR) Satin Chrome (SC)
Only DG-BT 2/23
Cut out dimension

Item No. D L Material Brass Finish Glass Thickness (mm) Weight (g) Box (set)
DG-BT2/23-CR 235 Chrome 111
DG-BT2/23-SC (59/64") 535 Satin Chrome
DG-BT2/30-CR 32.0 ' Chrome
DG-BT2/30-SC a-1/4") Brass Satin Chrome 8-12 230 !
DG-BT2/40-CR 40.0 Chrome
DG-BT2/40-SC @oney | 4 Satin Chrome a4t

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



9 SUGATSUNE

KNOB EY-127

M4x25
STAINLESS

I
>
Z
O /A
= @30 (1-3/16") ‘
[Tl
w
-U ~ C ]
= ©
— o
[ o
wn N
Ro
A
Z
@) 219 (3/4")
w
n Item No. Weight (g) Box (pcs) Carton (pcs)
EY-127/30 53 25 250
Material Finish
304 Stainless Steel Satin
2
M4x25
o KNOB H-| EY-207
W STAINLESS
0]
%
‘\\ ~
° e
Y}
A
Item No. Weight (g) Box (pcs) Carton (pcs)
g11 EY-207 11 25 250
Material Finish
304 Stainless Steel Satin

KNOB EY-301

L
oD
Item No. D L Box (pcs) | Carton (pcs)
EY-301/10 10 ( 3/8" ) 24 ( 15/16" )
EY-301/15 15 ( 9/16" ) 26 ( 1-1/32")
EY-301/20 20 ( 3/4" ) 28 ( 1-1/8" ) 25 250
EY-301/25 25( 1" ) 30 ( 1-3/16" )
EY-301/30 30 (1-3/16") 28 ( 1-5/16" )
Material Finish
304 Stainless Steel Satin

1-800-562-5267

(U.S.A. Only)

www.sugatsune.com



KNOB

KNOB

KNOB

SUGHTSUNE

Mdx25
STAINLESS )

91

EY-320

KNOB

T
>
217 %
-
L
w
8 U
& C
& —
—
Item No. Weight (g) Box (pcs) Carton (pcs) n
EY-320 22 25 250 Ro
@14 (35/64") Material Finish é
304 Stainless Steel Satin @)
vy}
0p)
M4x25
STAINLESS
@D P
"—' Z
o
Item No. D B L Box (pcs) o
DSI-209-12 12 (15/32" ) 7 20 ( 13/16" ) 0p)
L DSI-209-16 16 ( 5/8" ) 8 26 ( 1" )
DSI-209-20 20 (25/32" ) 10 28 ( 1-1/8" ) 25
DSI-209-24 24 (15/16" ) 14 29 ( 1-3/16")
‘ — DSI-209-29 29 (1-1/8" ) 18 35 ( 1-3/8" )
oB Material Finish
304 Stainless Steel Satin
M4x25
|STAINLESS | EY 326
L
Item No. D L Weight (g) Box (pcs) | Carton (pcs)
EY-326/20 | 20 (3/4") | 33.0 (1-19/64") 62 o5 550
o EY-326/25 | 25( 1") | 35.5(1-25/64") 102
Material Finish
304 Stainless Steel Satin
Mdx25
|STAINLESS‘ EY 327
L
Item No. D L Weight (g) Box (pcs) | Carton (pcs)
ob EY-327/20 | 20 (3/4") | 33.0 (1-19/64") 105 - 250
EY-327/25 | 25( 1") | 35.5 (1-25/64") 125
Material Finish
304 Stainless Steel Satin

www.sugatsune.com

1-800-562-5267

(USA. O

nly)



92 SUGATSUNE

EY-338

Mdx25
STAINLESS )

KNOB

I
>
Z
O
[ _
[Tl
%
U
= .
—
(0)]
@ LN
A
Z
O
w
0]
Item No. D L Weight (g) Box (pcs) Carton (pcs)
EY-338/20 20 (3/4") 26 40 = o0 Material Finish
EY-338/25 25( 1") 32 75 304 Stainless Steel Satin
2
M4x25
S KNOB -] EY-339
w STAINLESS
0]
2D
_
Item No. D L Weight (g) Box (pcs) Carton (pcs)
EY-339/20 20 (3/4") 375 125 oo 50 Material Finish
EY-339/25 25( 1") 415 226 304 Stainless Steel Satin
~—H 45
ft
8
| — =1
s ] 78
\\J M4 Depth10
Item No. D1 D2 H t Weight (g) Box (pcs) Carton (pcs)
TS-25 25 36
145 | 23 | 6.7 50 200
TS-30 30 47 Material Finish
TS-36 36 |15.0 | 24 7.5 70 30 120 Brass Satin Nickel

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE %

KNOB © H.] Rs-38

[COMPONENT g
Z
)
[
M4 x 0.7 m
o
C
—
(I
(0)]
Ro
A
Z
O
w
0]
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
RS-38/S 20 20 200 304 Stainless Steel Satin
2
Y
KNOB © A RSS O
ComponenT [ o
0]
M4 x 0.7%
A M5 x 0.8
m
! h
@ { FJ"‘/ o
,. Ex Q
Satin
Material Finish
. : Mirror (M)
Mirror 304 Stainless Steel Satin (S)
Item No. A B D Weight (g) Box (pcs) Carton (pcs) Screw
RSS-25/M* RSS-25/S* | 22 ( 55/64" ) 25( 63/64" ) 18 8.5 M4 x 30
RSS-30/M* RSS-30/S* | 23 ( 29/32") 30 ( 1-3/16") 20 11.0 20 200
RSS-38/M RSS-38/S 27 (1-1/16") 38( 1-1/2" ) 25 16.0 M5 x 30
RSS-50/M RSS-50/S 34 (1-11/32") 50 ( 1-31/32") 85) 30.0

KNOB Bl DJj22

M4
—— 30 ———~
(1-3/16")
¥ g
=
PB CR SN
Please specify the finish when ordering.
Material Finish
- Satin Nickel (SN)
Item No. Weight (g) Box (pcs) Carton (pcs) Brass Chrome (CR)
DJ-22 80 20 200 Polished Brass (PB)
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



94 SUGATSUNE

KNOB L8 GLA

I
>
Z
|g H 4.5
m 3
o &)
= \J ° iy
6 3.5 Depth 10
Qo SN
x Please specify the finish when ordering.
% CR Material Finish
w Brass Satin Nickel (SN)
Chrome (CR
D (CR)
Item No. D H T C d M Weight (g) | Box (pcs) |Carton (pcs) Screw
GLA-12 12 (15/32") 18 (1 45/64") 8.5(21/64") 35 M3 x 0.5 14 50 500 M3 x 25
GLA-16 16 ( 5/8" ) 22 (55/64") | 11.0( 7/16") 4.0 3 29
M4 x 0.7 40 400 M4 x 25
GLA-20 20 (25/32") 25 ( 63/64") | 14.0(11/64") 45 8 52 *
A
Z
O KNOB O KK-T
w STEEL
0]
H « Silver ion coated handle.
N

M4x0.7
/ A Depth9

‘%0D1 ‘

[a)
Q
A/k
Item No. Material Finish D D1 H h | Weight (g) | Box (pcs) |Carton (pcs)
KK-T24SNI Nickel + Silver lon Coating ;.
KK-T24SSG Satin Gold + Silver lon Coating (15/‘116,.) 16 (292/22,.) 15 10
KK-T24SBR . Brown + Silver lon Coating
— Al All 25 200
KK-T28SNI uminum Afloy Nickel + Silver lon Coating 25 ;
KK-T28SSG Satin Gold + Silver lon Coating (1-3/32") 20 (1_12/32,.) 2.0 20
KK-T28SBR Brown + Silver lon Coating

KNOB s KK-B

STEEL

H « Silver ion coated handle.
1.5+
M4 x 0.7
Depth12
a) a
Q Q
Item No. Material Finish D D1 H Weight (g) | Box (pcs) | Carton (pcs)
KK-B20SNI Nickel + Silver lon Coating
KK-B20SSG Satin Gold + Silver lon Coating (252/22..) 13 (1_12/g2,.) 10
KK-B20SBR ) Brown + Silver lon Coating
KK-B25SNI Aluminum Alloy Nickel + Silver lon Coating % 200
KK-B25SSG Satin Gold + Silver lon Coating (632/24") 16 (1—??/26") 25
KK-B25 SBR Brown + Silver lon Coating
www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE

LA
KNOB MRB
H 45
SMK .
Q
m T !
S '
| o i
W Q *
Depth 10
N *MRB-L No anti-rotation pin.
PB Please specify the finish when ordering.
Material Finish
CR Chrome (CR)
EEes Polished Brass (PB)/(MRB-L only)
Smoke (SMK)/(MRB-L only)
Satin Nickel (SN)
Item No. D H B d Weight (g) Box (pcs) Carton (pcs) Screw
MRB-S 18 (45/64") ; 5 3 38 M4 x 25
MRB-L 24 (15/16") 21 (53/64) - - 70 0 300 #8-32 x 1
M4x25
KNOB H-] sy
M4 x 0.7
H Depth 10
‘ ‘ a |
PB \ J Q
SN
Please specify the finish when ordering.
Item No. D H Weight (g) Box (pcs) Carton (pcs) Material Finish
SY-16 16 (5/8") 15 (19/32") 10 40 400 Brass Polished Brass (PB)
SY-22 22 (7/8") 17 (43/64") 21 30 300 Satin Nickel (SN)
M4x25
KNOB H-] MKz
PB SB
M4 x 0.7
B H Depth S
SMK ]
N\ | ¢
o ] $
SN < ¥
kel
Q
—n~h
Please specify the finish when ordering.
Material Finish
Zinc Alloy  |Chrome (CR), Polished Brass (PB), Smoke (SMK), Satin Brass (SB), Satin Nickel (SN)
Item No. D A B H h (0] Ci d S Weight (g) Box (pcs) Carton (pcs)
MKZ-S 15 9.5 |15 (19/32" 20 135 8 6 11
( ") 45 2 50 500
MKZ-L 21 12,5 |20 (25/32") 26 17.0 11 7 29

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)

95

I
>
pa
)
=
m
2
-
C
S
=
n
Ro
=
pa
©)
W
%)

SAONM



96 SUGATSUNE

T™MT

Mdx30
STAINLESS )

PULL (GoLD PLATED)

I
>
Z
O
[
m
w -
Y]
C
— M4 x 0.7
6 Depth 15
) g
P >
O
w
0]
Item No. w L D H |Weight (g) | Box (pcs) | Carton (pcs)
TMT-16 16 25.0 ( 63/64") 12.5 20 31 1 10 Material Finish
TMT-20 20 31.5 ( 15/64") 16.0 25 64 Brass 24K Gold Plating
2
M4x20
o KNOB - DW-50N
w STAINLESS
0]
- qg_» SetScrew « Includes insert block and set screw for
4 surface mounting.
Ll 7 P
=N, f
2-04.2,08.2
j-— 18 —>
(45/64")
30 7 11+
//’Ei:\\\\ —
ey
INdINS 3
i —© i
7N ' =
N
A\>77Z2 S I B v
Item No. Weight (g) Box (pcs) Carton (pcs) Material Finish
DW-50N 130 20 100 Brass Matte Chrome
/ M4x25
KNOB H:-] ASERIES
M4 x 0.7
Depth 12
\ *
5 _V s
Q Q
|
A
et -
e H—»
Material Finish
Aluminum Anodized
Item No. D1 H D2 t Weight (g) Box (pcs) Carton (pcs)
A-861 20 ( 25/32" ) 18.0 ( 45/64") 10 4.0 5.0
A-862 25 ( 63/64" ) 18.5 ( 47/64") 11 4.5 8.5 48 1152
A-863 30 ( 1-3/16") N 12 15.0
A-864 35( 1-3/8" ) O €A ) 13 5.0 16.5 24 576

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



SUGHTSUNE

97

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

||
®
=
- STAINLESS
Zweil. Push Knob sis] ZL-1908 @
STEEL -
o
¢ Includes stainless steel screw. C
0
Screw I
M3x25 x
} 777777777777777777 N Front Z
T T it 2 %3 8
I . 8 1< —
gl = L] 5= iR 1 o
o i BT
| 5 35 L
il B
— H4~—
Cut Out Dimensions
Item No. | No. Part Name Material Finish/Color
@ | Push Knob (Base Included) 316 Stainless Steel Zwei L Door Thickness (t) Counterbore Depth (H)
ZL-1908 | @ Body ABS Black 13~23 mm (33/64"~29/32") 0
® Case Zinc Alloy, ABS Black 24~33 mm (61/64"~1-19/64") Door Thickness-23
M3x20
PUSH KNOB E PK-03
* Knob can be pushed in when not in use.
« For door thickness 15~25 mm. (19/32"~1")
* Can be used on thickness up to 35 mm (1-3/8") by
counterboring.
« Similar style to push knob latches PKL-08 (P.136).
Truss head screw _ . Cap
M3 x 20 \fis%s‘,n)/
7§ §§ i: ! A I(ggl?r:%:rbore)
1 g |
w8 8| l. o892 .|
Pel e i
\ T ;— Material Finish/Color
Door surface 0188 u ’U 23 Black Nickel (BN)
¥ Zinc Alloy Chrome (CR)
BN CR GA —o31—! Gold (GA)
ABS Black
Item No. Finish Weight (g) Box (pcs) Carton (pcs)
PK-03/GA Gold Door Thickness H (Counterbore)
PK-03/CR Chrome 67 20 200 15~25 mm None
PK-03/BN Black Nickel 26~35 mm H = Door Thickness-25

www.sugatsune.com

1-800-562-5267

(U.S.A. Only)



97.1 SUGATSUNE

ESOR

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

S3ATANVH L3aNIGVO

ESOR is a small foundry
that specializes in
making decorative
handles born out of
deep Basque tradition

of metal working.

ESOR'’s contemporary
designed products
are hand crafted with
a manual production

process by which

each piece is
manipulated until the
entire surface is smooth
and visually attractive.

www.sugatsune.com 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 972

Y
HANDLE ES-Z006-192
T
>
e Sleek brushed finish with contemporary Z
style. O
* Smooth to the touch. E
w
U
. C
%”Qr |':
[ - ] R,sei.q R0l lm (0p)
Dark Bronze

\ c Ro
"G P
By Z
i) 8

o= on
o o8 n

58
White Bronze Matte Antique Brass Matte Antique Copper 116" LM
(17)

Item No. C H Weight (g) Box (pcs) |Carton (pcs) - — @)
ES-Z006-192/WB Material Finish >
» » White Bronze (WB),

ES-Z006-192/DB _ .
e 7(%12? 1(§g*)3 260 10 200 Jine All Dark Bronze (DB), =
_ ES-Z006-192/AB_ | Y Matte Antique Brass (AB), Z
ES-Z006-192/AC Matte Antique Copper (AC) ﬂ
T
- >
HANDLE ES-7401-128 Z
—
M
* Organic shaped handle with rustic finish. (V)]

¢ Handcrafted, smooth to the touch.

Matte Antique Brass

Dark Bronze White Bronze Matte Antique Copper
11-7/16"(290)

249 C

2%@ - 5-1/16"(128)
aly
Item No. L C Weight (g) | Box (pcs) |Carton (pcs) . —
ES-7401-128/WB Material Finish
White Bronze (WB),

ES-Z401-128/DB

11-7/16” (290) | 5-1/16” (128) 131 10 200 Zinc Allo Dark Bronze (DB),
ES-7401-128/AB Y Matte Antique Brass (AB),
ES-Z401-128/AC Matte Antique Copper (AC)

www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)



973 SUGATSUNE

L1
- KNOB ES-Z201-33
>
Z * Rustic finishes to a modern knob.
) * Smooth finishes.
-
[Tl
w
U D
,g 1-5/16" (33)
»
Matte Antique Copper
Ro
A 2]
Z 8%
.
wn -
D1
e Dark Bronze Matte Antique Brass White Bronze 11/16"(18)
>
B
Z
m
— Iltem No. H D D1 Weight (g) Box (pcs) | Carton (pcs) . -
% ES-Z201-33/WB Material Finish
N R . . . White Bronze (WB),
> ES-7201-33/DB 1-;é8 1-53/;6 111/186 62 25 200 2inc Allo Dark Bronze (DB),
w) ES-7201-33/AB (28) @33 (18) Yy Matte Antique Brass (AB),
I ES-7201-33/AC Matte Antique Copper (AC)
m
e Y
HANDLE ES-Z402-128
¢ Bold, block design.
® Detailed, rustic finish.
k@
| e\
Matte Antique Brass G %‘_
o 3-3/4"(96) g
§ L G
™ & 5-1/16"(128)
&
‘% R500
Dark Bronze White Bronze Matte Antique Copper % &0)
< &
T
L
5-3/8"(136.5)
Iltem No. L C1 C2 H Weight (g) | Box (pcs) |Carton (pcs)
ES-Z402-128/WB Material Finish
» » » » White Bronze (WB),
ES-7402-128/DB H o - o
S / (51?%85) S(Sé,‘)l 5(«:23? 1(;5 184 15 200 Zinc Alloy Dark Bronze (DB),
ES-7402-128/AB : Matte Antique Brass (AB),
ES-7402-128/AC Matte Antique Copper (AC)
www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)

1-1/8"(28)



SUGHTSUNE

HANDLE ES-Z002-224
¢ Unique design with sleek edges.
* Rustic finish.
[ == 1 —{o |
C
‘ 8-13/16"(224) ‘
White Bronze ®
5-1/8"(130) 3-15/16"(100) J’Lzl'gi
9-13L/16”
Dark Bronze Matte Antique Brass ~ Matte Antique Copper @50
Item No. L C H Weight (g) | Box (pcs) Carton (pcs)
ES-Z002-224/WB Material Finish
White Bronze (WB)
ES-Z002-224/DB 5 ” 5 ” -1/4” )

S ! < (1235/8)6 & (122/1)6 L (gé‘)‘ 143 10 200 Jine Allo Dark Bronze (DB),
ES-2002-224/AB Y Matte Antique Brass (AB),
ES-Z002-224/AC Matte Antique Copper (AC)

Y
HANDLE ES-Z001-224
* Modern feel.
* Smooth to the touch.
Dark Bronze & T | & |
C
8-13/16"(224)
2-15/16"(75) 3-15/16"(100) 2-15/16"(75) ‘Hr
L
White Bronze Matte Antique Brass Matte Antique Copper 9-13/16" (250)
Item No. L C H Weight (g) | Box (pcs) | Carton (pcs)
ES-Z001-224/WB Material Finish
White Bronze (WB)
ES-Z001-224/DB . ” - » -1/4” g

S-Z00 / 9 (1235/8)6 8 (1232/2)6 1(:13:/;)1 143 10 200 Zine Allo Dark Bronze (DB),
ES-Z001-224/AB Y Matte Antique Brass (AB),
ES-Z001-224/AC Matte Antique Copper (AC)

Y
HANDLE ES-Z005-192
® Contemporary, rustic finish.
¢ Smooth to the touch.
&,
o
1 Ly
g -
White Bronze o
& 3 9 g
> : :
& Tys
ey C
7-9/16"
(192)
Dark Bronze Matte Antique Brass ~ Matte Antique Copper (205231,’35)
L
Item No. L C H W Weight (g) | Box (pcs) |Carton (pcs)
ES-Z005-192/WB Material Finish
» ” » ” White Bronze (WB),
ES-Z005-192/DB o o
m (203 35) 7(1992? { (:?3/3)6 (;5) 207 15 200 Zinc Alloy Dark Bronze (DB),
_ ES-Z005-192/AB | . Matte Antique Brass (AB),
ES-Z005-192/AC Matte Antique Copper (AC)

www.sugatsune.com ESOR

1-800-562-5267

(U.S.A. Only)

97.4

I
>
pa
)
—
m
2
T
C
—
I
n
Ro
=
pa
©)
W
%)

S3TTANVH L3INIGVO



975 SUGATSUNE

Y
- HANDLE ES-Z405-64
>
% ¢ Handle pull with a vintage style.
= ¢ Bold designs with rustic finish.
[Tl
%
U
C
[
[
n : itk #K
Qo White Bronze i L RS
x 2-1/2"(64)
Z 316
-9/16"(91)
O
L
g 3-7/8"(99)
Dark Bronze Matte Antique Brass ~ Matte Antique Copper
T
O
>
B
Z
m
— Iltem No. L C1 C2 H Weight (g) | Box (pcs) | Carton (pcs)
% ES-Z405-64/WB Material Finish
ES-Z405-64/DB 3-7/8” 2.9/2” 1-5/16” White Bronze (WB),
=z _— 3-9/16” (91) 37 25 200 Dark Br DB
X = 99 64 34 i onze (DB),
W) _ ES-7405-64/AB | ) & (34) Zineplioy Matte Antique Brass (AB),
E ES-Z405-64/AC Matte Antique Copper (AC)
(0]
HANDLE 8 ES-A401-41
e Contemporary style with a vintage finish.
L
s A% 1-5/8" (41)
Matte Antique Brass T i: 8,
S| Y9
e
— If‘R\ T
N2/
Dark Bronze White Bronze Matte Antique Copper W
13/16"(20)
Iltem No. L C H W Weight (g) | Box (pcs) |Carton (pcs)
ES-A401-41/WB Material Finish
ES-A401-41/DB 1-5/8” 13/16” 1-9/16” 13/16” White Bronze (WB),
22 25 200 ) Dark Bronze (DB)
E - 41 )
ES-A401-41/AB (41) (20) (40) (20) Zinc Alloy Matte Antique Brass (AB),
ES-A401-41/AC Matte Antique Copper (AC)
www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)

1-5/16"
(34)



SUGHTSUNE 976

Y
HANDLE ES-Z404-192  pm
>
e Contemporary, bold style. =z
* Smooth to the touch. Ig
m
w
L U
8-5/16"(211) Ig
) C [
Matte Antique Copper 7-9/16"(192) wn
Ro
@ Bl %g é
- O
7
s w
0]
@
Dark Bronze Matte Antique Brass White Bronze “\ J Sf
N
O
>
o
Z
m
Item No. L C H Weight (g) | Box (pcs) |Carton (pcs) : — —
ES-Z404-192/WB Material Finish %
» 3 » White Bronze (WB),
ES-Z404-192/DB _ _ -
m 8(254‘!15)3 7($§;§5 1(3;/2) 250 15 200 Zinc Alloy Dark Bronze (DB), zZ
[ SSRSGSTICEYALS | . Matte Antique Brass (AB), )
ES-Z404-192/AC Matte Antique Copper (AC) —
M
()]
Y
HANDLE ES-7403-128
¢ Bold, rectangular shape with an antique
finish.
Dark Bronze
\ C |
5-1/16"(128)
ik 1 fD
| [ =3f
White Bronze Matte Antique Brass Matte Antique Copper
=58
L
6-1/8"
(155)
Iltem No. L C H W Weight (g) | Box (pcs) |Carton (pcs)
ES-7403-128/WB Material Finish
White Bronze (WB),
ES-7403-128/DB
6-1/8”(155) | 5-1/16”(128) | 15/16” (24) | 1-3/4” (45) 207 10 200 : Dark Bronze (DB),
ES-7403-128/AB Zincplioy Matte Antique Brass (AB),
ES-7403-128/AC Matte Antique Copper (AC)
www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)



977 SUGATSUNE

LA
- HANDLE ES-Z004-160
>
% * Contemporary, rustic finish.
—
[Tl
w
U
C
[
[
(0)]
Qo Matte Antique Brass
2
o) CTe] [l |-
o c
0)] 6-5/16"(160)
Dark Bronze White Bronze Matte Antique Copper N
<
L
O 8-1/4"(210)
>
o
zZ Item No. L C H Weight (g) Box (pcs) |Carton (pcs)
m ES-Z004-160/WB Material Finish
— White Bronze (WB)
ES-Z004-160/DB -1/4” H ” ” ’
T 8211/0 & .‘15(/3106 9/1156 125 15 200 Zinc Alloy Dark Bronze (DB),
> ES-Z004-160/AB (210) (160) (15) Matte Antique Brass (AB),
= ES-Z004-160/AC Matte Antique Copper (AC)
W)
m Y
o HANDLE ES-Z008-128
¢ Rounded hande pull with smooth finish.
Dark Bronze
- - - — &
18
\Zors
m <
White Bronze Matte Antique Brass ~ Matte Antique Copper H N ﬂ
@
‘ ‘ M 5-1/16"(128) EARE
L
6-5/16" (160)
Item No. L C Weight (g) Box (pcs) Carton (pcs)
ES-Z008-128/WB Material Finish
» " White Bronze (WB),
ES-Z008-128/DB H -
< v 6(%10? 5(11218? 88 25 200 oAl Dark Bronze (DB),
ES-Z008-128/AB Matte Antique Brass (AB),
ES-Z008-128/AC Matte Antique Copper (AC)
www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)



SUGHTSUNE 9738

LA
HANDLE ES-Z009-96  pgm
>
¢ Unique, handcrafted handles. Z
¢ Antique finishes. lg
[Tl
w
0
n C
2 —
T ® 6
@ >
Matte Antique Copper T i, T B & Qo
A
c Z
3-3/4"(96) O
L w
5.1/4"(134) 0)]
Dark Bronze Matte Antique Brass White Bronze /] ‘ ‘ N g
4w 4P s
Q)
>
o
Iltem No. L C H Weight (g) Box (pcs)  |Carton (pcs) - — Z
ES-7009-96/WB Material : Finish ﬂ
ES-Z7009-96/DB 5-1/4” 3-3/4” 1-3/16” White Bronze (WB),
90 20 200 ] Dark Bronze (DB), T
ES-Z009-96/AB (134) (96) (30) A -7 Matte Antique Brass (AB), >
ES-Z009-96/AC Matte Antique Copper (AC) =
O
m
L1
HANDLE ES-Z003-224
e Detailed, sharp-lined design.
* Smooth to the touch.
White Bronze
/% [¢] [E
c =
Dark Bronze Matte Antique Brass Matte Antique Copper ' 8-13/16" (224) o
&
g
zfe
L |
9-5/16"(236)
Item No. L C H Weight (g) Box (pcs) | Carton (pcs) : —
ES-Z003-224/WB Material : Finish
ES-Z003-224/DB 9-5/16” | 8-13/16” | 1-9/16” White Bronze (WB),
ES-7003-224/AB (236) (224) (40) 260 10 200 Zinc Alloy Dark Bronze (DB),
- - Matte Antique Brass (AB),
ES-Z003-224/AC Matte Antique Copper (AC)
www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)



97.9 SUGATSUNE

HANDLE A8l ES-Z007-160

¢ Classic shaped handle.
* Smooth, handcrafted finish.

R245
Matte Antique Brass @@ (%/Q)/

C
6-5/16"(160)

I
>
pa
)
—
m
2
T
C
—
-
n
Ro
=
pd
©)
W
%)

H
1-1/8"(28)

C:; Dark Bronze White Bronze Matte Antique Copper : §,
E 7—3/4£(197)
Z
T
—]
% Item No. L C H W Weight (g) | Box (pcs) | Carton (pcs) . —
Z ES-Z007-160/WB Material Finish
" " " " White Bronze (WB),
ES-Z007-160/DB o H -
Ig 7(1:;/7) 6(%‘2)6)3 L (;5/5? (;5) 210 15 200 Zinc Allo Dark Bronze (DB),
m ES-Z007-160/AB Y Matte Antique Brass (AB),
n ES-Z007-160/AC Matte Antique Copper (AC)
Y
HANDLE ES-Z010-96

¢ Bold design for the modern style.
* Rustic, smooth finish.

H
1-1/16"(27)

©
Q
F NG “;m‘ +/

1
Matte Antique Copper f
C
3-3/4"(96)
2
2
Dark Bronze Matte Antique Brass White Bronze 2
= | I
2 l‘ — — ‘(
L
5-1/8"(130)
Item No. L C H Weight (g) Box (pcs) Carton (pcs) : —
ES-Z010-096/WB Material Finish
o o m White Bronze (WB),
ES-Z010-096/DB = - -

ﬁ 5(113/83) 3(3(/;)1 1 (12/71)6 97 20 200 Zinc Alloy Dark Bronze (DB),
ES-Z010-096/AB Matte Antique Brass (AB),
ES-Z010-096/AC Matte Antique Copper (AC)

www.sugatsune.com ESOR 1-800-562-5267

(U.S.A. Only)





